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¼ HkkSfrd ,Oka vkfFkZd Hkwxksy ½ 
Select the correct option: -       ¼ lgh fodYi dk p;u dhft, ½                                                            

UNIT – 1- Chapter-1 : Internal Structure of the Earth ¼v/;k;&1 % i`Foh dh vkUrfjd lajpuk ½ 

1)   Which of the following is not a means of study of the earth‟s interior? 

(a) Humidity   (b)  Density   (c)   Pressure     (d)  Temperature 

fuEu esa ls dkSu i`Foh dh vkUrfjd lajpuk ds v/;;u dk lk/ku ugha gS \  

¼ v ½  vknZzrk   ¼ c ½ ?kuRo  ¼ l ½ ncko    ¼ n ½ rkieku 

2)   Which of the following is the average density of the earth? 

(a) 4.5   (b)  3.5   (c)   5.5     (d)  8.5 

fuEu esa ls dkSu i`Foh dk vkSlr ?kuRo gS \  

¼ v ½  4-5   ¼ c ½ 3-5  ¼ l ½ 5-5   ¼ n ½ 8-5 

3) Which of the following is not the layer of the earth‟s interior? 

(a) Mesosphere   (b)  SIMA  (c)   NIFE     (d)  SIAL 

fuEu esa ls dkSu i`Foh dh vkUrfjd lajpuk ds ijr ugha gS \  

¼ v ½  e/; eaMy  ¼ c ½ lhek  ¼ l ½ fuQs  ¼ n ½ fl;ky 

4) Which of the following is not the layer of the earth‟s interior as per recent view? 

(a) Crust    (b)  Mantle   (c)   Metal layer     (d)  Core 

vk/kqfud erkuqlkj fuEu esa ls dkSu i`Foh dh vkUrfjd lajpuk ds ijr ugha gS \  

¼ v ½  dzLV   ¼ c ½ eSaVy  ¼ l ½ /kkrq ijr ¼ n ½ dksj 

5) Which of the following is not the layer of the earth‟s interior as per earthquake wave? 

(a) Exosphere   (b)  Lithosphere  (c)   Pyrosphere     (d)  Barysphere 

HkwdEih; ygjksa ds vk/kkj ij fuEu esa ls dkSu i`Foh dh vkUrfjd lajpuk ds ijr ugha gS \  



¼ v ½  ckáeaMy ¼ c ½ LFkyeaMy  ¼ l ½ mrIreaMy ¼ n ½ xq:eaMy 

6) Which of the following is not the kind of earthquake wave? 

(a)    P    (b)  S    (c)   L       (d)  B 

fuEu esa ls dkSu HkwdEih; ygj ds izdkj ugha gS \  

¼ v ½  ih0   ¼ c ½ ,l   ¼ l ½ ,y  ¼ n ½ ch 

7) Who discovered Mohorvicic discontinuity? 

(a) A. Holmes   (b)  A. Mohorovicic  (c)   Wooldridge     (d)  Guttenberg 

eksgksjkfofld vlEc)rk dh [kkst fdlus dh gS \  

¼ v ½  ,0 gksEl   ¼ c ½ ,0 eksgksjksfofld ¼ l ½ myfjt     ¼ n ½ xqVsuoxZ 

8) The average density of the core of the earth is -------------------? 

(a) 4 -6   (b)  7-9  (c)   11 -13     (d)  21 -23 

i`Foh ds dksj dk vkSlr ?kuRo &&&& gSA   

¼ v ½  4&6   ¼ c ½ 7&9 ¼ l ½ 11&13    ¼ n ½ 21&-23 

9)  Which of the following layer is found in the centre of the earth? 

(a) Crust   (b)  Mantle  (c)   SIMA     (d)  Inner Core 

fuEu esa ls dkSu ijr i`Foh ds dsUnz esa ik;k tkrk gSA   

¼ v ½  dzLV   ¼ c ½ eSaVy ¼ l ½ lhek    ¼ n ½ vkUrfjd dksj 

10) Guttenberg discontinuity is the delimitation between ----------- layers of the earth. 

(a) Crust & Mantle (b)  Outer & inner mantle (c)   Mantle & Core (d)  Outer & inner Core 

xqVsucxZ vlEc)rk ìFoh ds fdu nks ijrksa ds e/; dh lhek  gSA   

¼ v ½  dzLV ,oa eSaVy        ¼ c ½ vkUrfjd ,oa cká eSaVy  

¼ l ½   eSaVy ,oa dksj       ¼ n ½ vkUrfjd ,oa cká dksj 

11) The motion of P wave ----------- in the core of the earth. 

(a) Increases   (b)  decreases     (c)   fluctuates   (d)  zero 

i`Foh ds dksj esa ih ygj dh xfr  &&&& gSA   

¼ v ½  c<+rk gS     ¼ c ½ ?kVrk gS    ¼ l ½ c<+rk&?kVrk gS  ¼ n ½ “kwU; 

12) Which earthquake wave reaches in the core of the earth. 

(b) L wave      (b)  P wave    (c)  S wave      (d)  No wave     

i`Foh ds dksj esa ih ygj dh xfr  &&&& gSA   

¼ v ½  ,y0 ygj     ¼ c ½ ih0 ygj     ¼ l ½ ,l0 ygj     ¼ n ½ dksbZ ygj ugha 

 



UNIT – 1    Chapter-2 : Isostasy  ¼v/;k;&2 % HkwlUrqyu ½ 

13)  Who propounded the concept of Isostasy at first? 

(a) Airy   (b)  Pratt     (c)   Dutton    (d)  Jolly 

HkwlUrqyu dh ladYiuk loZizFke fdlus izfrikfnr fd;k \    

¼ v ½  ,;jh     ¼ c ½ izkV    ¼ l ½  MVu   ¼ n ½ tkSyh 

14)  A mechanical stability between -------- on the earth‟s surface is called Isostasy ? 

(a)  Mountain and sea   (b)  Sea and Plain       

(c)     Plain and Plateau   (d) Upstanding and low lying parts of the earth‟s surface. 

Hkwry ij HkwlUrqyu &&&& ds chp ,d ;kaf=d fLFkjrk gSA   

¼ v ½  ioZr ,oa lkxj      ¼ c ½ lkxj ,oa eSnku    

¼ l ½ eSnku ,oa iBkj     ¼ n ½ Hkwry ds mWps mBs gq, ,oa fuEu Hkkx      

15) Who introduced compensation level in context to Isostasy ?   

(a) Airy   (b)  Pratt    (c)   Davis   (d)  Jolly 

HkwlUrqyu ds lUnHkZ esa fdlus {kfriqfrZ ry dks “kkfey fd;k \   

¼ v ½  ,;jh     ¼ c ½ izkV    ¼ l ½ Msfol   ¼ n ½ tkSyh 

16) Who stated - „Bigger the column, lesser the density‟? 

(a) Dutton   (b)  Pratt    (c)   Airy    (d)  Jolly 

fdlus dgk & ÞÅWpk LrEHk] de ?kuRoß \   

¼ v ½  MVu     ¼ c ½ izkV    ¼ l ½   ,;jh   ¼ n ½ tkSyh 

17) Who propounded the concept – „Uniform depth with varying density‟? 

(a) Dutton      (b)  Jolly          (c)   Airy        (d)  Pratt 

Þ,d leku xgjkbZ ,oa ifjofrZr ?kuRoß ladYiuk dk izfriknu fdlus fd;k \    

¼ v ½  MVuS     ¼ c ½ tkSyhS    ¼ l ½ ,;jh  ¼ n ½ izkV 

18)  „Level of compensation‟ exists at which place according to Pratt? 

(a) Beneath the earth surface  (b)  In Oceans    (c)   On mountains  (d) In plain regions 

izkV ds vuqlkj {kfriqfrZ ry dgkWa fLFkr gksrk gSA   

¼ v ½  Hkwry ds uhps  ¼ c ½ egklkxjksa esa  ¼ l ½ ioZrksa ij  ¼ n ½ eSnkuh Hkkxk esa 

19)  Who believed in the law of floatation in context to Isostasy? 

(a) Pratt   (b)  Jolly      (c)  Dutton   (d)  Airy 

HkwlUrqyu ds lUnHkZ esa rSjko ds fl|kUr esa fdlus fo”okl O;Dr fd;k\    

¼ v ½  izkV   ¼ c ½ tkSyh  ¼ l ½ MVu   ¼ n ½ ,;jh 



20) Who said – Sial floats on Sima just like a boat in the water to explain Isostasy? 

(a) Pratt   (b)  Jolly      (c)  Dutton   (d)  Airy 

HkwlUrqyu dh O;k[;k esa fdlus dgk &fl;ky lhek ds mij mlh izdkj rSjrk gS tSsls ikuh esa uko \    

¼ v ½  izkV     ¼ c ½ tkSyh   ¼ l ½ MVu    ¼ n ½ ,;jh 

21) Who believed in the law of floatation of Archimedes in context to Isostasy? 

(a) Dutton    (b)  Holmes      (c)  Airy    (d)  Pratt 

HkwlUrqyu ds lUnHkZ esa vkfdZfeMht ds rSjko ds fl|kUr esa fdlus fo”okl O;Dr fd;k\    

¼ v ½  MVu   ¼ c ½ gksEl   ¼ l ½ ,;jh    ¼ n ½ izkV  

22) Who explained Isostasy with the help of  iceberg? 

(a) Hayford and Bowie   (b)  Pratt      (c)  Holmes    (d)  Airy 

Iykoh fge “kSy dh enn ls fdlus HkwlUrqyu dh O;k[;k dh \    

¼ v ½  gsQksMZ ,oa cksoh    ¼ c ½ izkV  ¼ l ½ gksEl   ¼ n ½ ,;jh 

23)  Who said – „Mountains have roots‟? 

(a) Holmes     (b)  Airy       (c)  Steers    (d)  Pratt 

fdlus dgk & ÞioZr ds tM+ gksrs gSaß \    

¼ v ½  gksEl    ¼ c ½ ,;jh  ¼ l ½ LVh;lZ   ¼ n ½ izkV  

24) Who said – “Any column has one part on the earth‟s surface and another nine parts 

remain beneath its surface in context to Isostasy? 

(a) Pratt   (b)  Holmes      (c)  Steers    (d)  Airy 

fdlus dgk &fdlh Hkh LrEHk dk ,d Hkkx Hkwry ds mij ,oa nwljk ukS Hkkx Hkwry ds uhps gksrk gS \    

¼ v ½  izkV   ¼ c ½ tkSyh  ¼ l ½ MVu   ¼ n ½ ,;jh 

UNIT – 1 -- Chapter-3 : Continental Drift ¼v/;k;&3 % egk}hih; izokg ½ 

25)  Alfred Wegner belongs to which of the following country? 

(a) Greece     (b)  Ireland     (c)  Germany    (d)  France 

vYQzsM osxuj fuEu esa ls fdl ns”k gS\    

¼ v ½  xzhl     ¼ c ½ vk;jyS.M  ¼ l ½ teZuh   ¼ n ½ QzkWal 

26) Who propounded the concept of continental drift at first ? 

(a) A. Wegner   (b)  P. Placet      (c)  Abraham Artelius   (d)  Francis Bacon 

egk}hih; izokg dh ladYiuk dk loZizFke izfriknu fdlus fd;k \    

¼ v ½  ,0 osxuj   ¼ c ½ ih0 IySlsV ¼ l ½ vczkge vkjVsfy;l   ¼ n ½ QzkWafll cSdu 

27) What is Pangaea according to Wegner? 

(a) Old rigid landmass      (b)  all landmass united together   



(c)  Landmass of the northern hemisphere   (d) Landmass of the western  

osxuj ds vuqlkj iSaft;k D;k gS\    

¼ v ½  izkphu n`<+ LFky[k.M         ¼ c ½ lHkh LFky[kaM ,d lkFk la;qDr   

¼ l ½ mrjh xksyk)Z ds LFky[k.M        ¼ n ½ if”peh xksyk)Z ds LFky[k.M 

28) Which of the following force is not responsible for wegner‟s continental drift? 

(a) Tidal force   (b)  Floating force     

(c)  Force of Buayancy   (d) Gravitational force 

osxuj ds egk}hih; ixkg ds fy, fuEu esa ls dkSu lk cy mrjnk;h ugha gS\    

¼ v ½  Tokjh; cy   ¼ c ½ rSjko cy ¼ l ½ Iyou”khyrk cy  ¼ n ½ xq:Rokd’kZ.k cy 

29) Wegner‟s Pangaea starts disrupting from which of the following geological period? 

(a) Carboniferous   (b)  Cambrian     (c)  Eocene  (d)  Pliestocene 

osxuj ds iSaft;k dk foHkatu fuEu esa ls fdl HkkSxfHkZd dky ls izkjEHk gksrk gS\    

¼ v ½  dkcksZfuQsjl  ¼ c ½ dSfEcz;u  ¼ l ½ b;kslhu  ¼ n ½ IyhLVkslhu 

30) What is wandering of poles according to Wegner? 

(a) Shifting of north pole towards south   (b)  Shifting of both poles elsewhere    

(c)  Shifting of South Pole towards north  (d) Shifting of both poles towards west 

osxuj  ds vuqlkj /kzqoksa dk Hkze.k D;k gS\    

¼ v ½  mrjh /kzqo dk nf{k.k dh vksj f[klduk   ¼ c ½ nksuks /kzqoksa dk b/kj&m/kj f[klduk  

¼ l ½ nf{k.kh /kzqo dk mrj dh vksj f[klduk   ¼ n ½ nksuks /kzqoksa dk if”pe dh vksj f[klduk 

31) What is Gondwana land? 

(a) Eastern piece of Pangaea   (b)  Western piece of Pangaea 

(c)  Northern piece of Pangaea  (d) Southern piece of Pangaea 

xksaMokuk ySaM D;k gS\    

¼ v ½  iSaft;k dk iqjch VqdM+k    ¼ c ½ iSaft;k dk if”peh VqdM+k    

¼ l ½ iSaft;k dk mrjh VqdM+k        ¼ n ½ iSaft;k dk nf{k.kh VqdM+k    

32) Continents drifted towards which direction due to tidal force? 

(a) North   (b)  South      (c)  East   (d)  West 

Tokjh; cy ds dkj.k egkns”kksa dk izokg fdl fn”kk dh vksj gqvk\    

¼ v ½  mrj   ¼ c ½ nf{k.k ¼ l ½ iqjc   ¼ n ½ if”pe 

33) Which of the following is not the proof in favour of continental drift? 

(a) Jig-saw fit     (b)  Origin of island arch     

(c)  Antarctica on South Pole (d)  Similar fossils on opposing coast of Atlantic ocean 



fuEu esa ls dkSu egk}hih; izokg ds i{k esa izek.k ugha gS\    

¼ v ½  ftx lk fQV   ¼ c ½ leqnzh pki dh mRifr ¼ l ½ nf{k.kh /kzqo ij vaVkdZfVdk dh fLFkfr 

¼ n ½ ,VykafVd egklkxj ds nksuks foijhr rVksa ij thok”e dh lekurk 

34) Tethys Sea was formed in which geological period? 

(a) Silurian    (b)  Permian       (c)  Oligocene  (d)  Carboniferous 

VsfFkl lkxj dk fuekZ.k fdl HkkSxfHkZd dky esa gqvk\    

¼ v ½  flyqfj;u   ¼ c ½ ijfe;u  ¼ l ½ vksfyxkslhu   ¼ n ½ dkcksZfuQsjl 

35) Glossopteris vegetation as an evidence of Continental drift was found in --------- ? 

(a) Russia & Siberia     (b)  Both opposing Atlantic coast 

(c)  Japanese and Okhatask sea   (d) Argentina  & Antarctica 

egk}kih; izokg ds i{k esa izek.k Lo:i XykkslksiVsfjl ouLifr dgkWa ikbZ xbZ Fkh \    

¼ v ½  :l ,oa lkbZcsfj;k     ¼ c ½ vVykafVd egklkxj dk nksuks foijhr rV   

¼ l ½tkiku ,oa vks[kkVLd lkxj   ¼ n ½ vktsZuVkbuk ,oa vUVkdZfVdk 

36) Leming creature related with ----------- country was an evidence of Continental drift. 

(a) Poland    (b)  Canada     (c)  Norway   (d)  Brazil 

ysfeax tho tks &&&&& ns”k ls lEcfU/kr Fkk] egk}hih; izokg dk ,d izek.k gSA    

¼ v ½  iksyS.M    ¼ c ½ dukMk   ¼ l ½ ukosZ    ¼ n ½ czkthy 

UNIT – 1   Chapter-4 : Mountain Building theory : Kober’s view  ¼v/;k;&4 % ioZr fuekZ.k 

               fl|kUr % dkscj dk fopkj ½ 

37) A long, narrow and shallow water depression is called --------------------  ? 

(a) Anticline   (b)  Syncline      (c)  Geosyncline   (d)  Anticlinorium 

,d yEch] ladh.kZ ,oa fNNyh tyiq.kZ xrZ &&&&&&&& dgykrh gSA   

¼ v ½  viufr   ¼ c ½ lUufr  ¼ l ½ HkwlUufr  ¼ n ½ leviufr 

38)  Kober belongs to which of the following country? 

(a) Germany  (b)  Britain      (c)  France    (d)  Greece 

dkscj fuEu esa ls fdl ns”k ls lEcfU/kr gS\    

¼ v ½  teZuh    ¼ c ½ fczVsu  ¼ l ½ QzkWal   ¼ n ½ xzhl 

39) Which is not the stage of a Geosyncline? 

(a) Orogenesis   (b)  Median mass      (c)  Lithogenesis   (d)  Gliptogenesis 

HkwlUrqyu ds lUnHkZ esa fdldk fopkj nwljs ds fopkj dh rqyuk esa vf/kd yksdfiz; gS\    

¼ v ½  iorZ fuekZ.k dh voLFkk      ¼ c ½ e/; fiaM  



¼ l ½ HkwlUufr fuekZ.k dh voLFkk  ¼ n ½ iorZ fodkl dh voLFkk    

40) Which of the following is not a kind of Geosycline? 

(a) Temporal-geosyncline    (b)  Meso-geosyncline     

(c)  Poly-geosyncline   (d) Mono-geosyncline 

fuEu esa ls dkSu HkwlUufr ds izdkj ugha gS\    

¼ v ½   dkfyd HkwlUufr       ¼ c ½ e/;LFk HkwlUufr  

¼ l ½  cgqy HkwlUufr    ¼ n ½ ,dy HkwlUufr 

41) Who wrote the book – „Der Bau der Erde‟? 

(a) Wegner  (b)  Kober       (c)  Dally    (d)  Holmes 

ÞMj ckm Mj vMZß uked iqLrd fdldh fy[kh gqbZ gS\    

¼ v ½  osxuj    ¼ c ½ dkscj  ¼ l ½ MSyh    ¼ n ½ gksEl 

42) The name of mountain building theory of Kober is ---------------------- ? 

(a) Radioactivity theory  (b)  Convection current theory         

(c)  Geosynclinal theory   (d)  Sliding continental theory 

dkscj ds ioZr fuekZ.k fl|kUr dk Ukke &&&&&&&&&&&&&&&gSA     

¼ v ½  jsfM;ks lfdz;rk fl|kUr    ¼ c ½ laogu rjax fl|kUr  

¼ l ½ HkwLkUufr fl|kUr   ¼ n ½ egk}hih; fQlyu fl|kUr 

43) In which of the following mountain orogeny, the Himalayas took their origin? 

(a) Chernian   (b)  Caledonian      (c)  Hercinian    (d)  Alpine 

fuEu esa ls fdl ioZrhdj.k esa fgeky; ioZr dh mRifr gqbZ \    

¼ v ½  pjfu;u   ¼ c ½ dSfyMksfu;u  ¼ l ½ gjlhfu;u   ¼ n ½ vYikbZu 

44) Kober‟s mountain orogan theory is not based on which of the following? 

(a) Concept of Holmes   (b)  Concept of  Haug         

(c)  Concept of Hall   (d)  Concept of Dana 

dkscj dk ioZr fuekZ.k fl|kUr fuEu esa ls fdl ij vk/kkfjr ugha gS\    

¼ v ½  gksEl dh ladYiuk   ¼ c ½ gkWx dh ladYiuk  

¼ l ½ gkWy dh ladYiuk   ¼ n ½ Mkuk dh ladYiuk 

45) Which of following force is responsible for Kober‟s mountain building? 

(a) Uplift force   (b)  Tension force   (c)  Compression force   (d)  Applied force 

dkscj ds ioZr fuekZ.k esa fuEu esa ls dkSu lk cy mrjnk;h gS\    

¼ v ½  mNky cy   ¼ c ½ ruko cy  ¼ l ½ noko cy   ¼ n ½ iz;qDr cy 



46)     According to Kober, mountains formed on the both sides of geosyncline are called ----? 

(a) Median mass  (b)  Randketten      (c)  Rigid mass  (d)  Fore land 

dkscj  ds vuqlkj HkwlUufr ds nksuks fdukjs ij cus iorZ dks &&&&&dgk tkrk gS\    

¼ v ½  e/; fiaM  ¼ c ½ jSaMdsVsu ¼ l ½ n<̀+ Hkw[k.M   ¼ n ½ vxzns”k 

47) What movement appeared in both sides according to Kober‟s mountain building? 

(a) Both sides shifted towards each other  (b)  Both sides remained stable 

(c)  Northern side shifted towards south  (d) Southern side shifted towards north 

dkscj ds ioZr fuekZ.k esa nksuks ik”oZ esa D;k xfr vkbZ \    

¼ v ½  nksuks ik”oZ ,d nwljs dh vksj f[klds   ¼ c ½ nksuks ik”oZ fLFkj jgs 

¼ l ½  mrjh ik”oZ nf{k.k dh vksj f[kldk  ¼ n ½ nf{k.kh ik”oZ mrj dh vksj f[kldk 

48) Who said – Only backland shifts and foreland remains stable? 

(a) Kober   (b)  Holmes     (c)  Suess   (d)  Joly 

fdlus dgk & dsoy i`’B izns”k ljdrk gS ,oa vxzns”k fLFkj jgrk gS\    

¼ v ½  dkscj   ¼ c ½ gksEl  ¼ l ½ Losl    ¼ n ½ tkSyh 

UNIT – 1   Chapter-5 : Mountain Building theory : Holmes’s view  ¼v/;k;&5 % ioZr fuekZ.k 

    fl|kUr % gksEl dk fopkj ½ 

49) The name of mountain building theory of Holmes is ----------------------? 

(a) Radioactivity theory   (b)  Convection current theory    

(c)   Geosynclinal theory    (d)  Sliding continental theory 

gksEl ds ioZr fuekZ.k fl|kUr dk Ukke &&&&&&&&&&&&&&&gSA     

¼ v ½  jsfM;ks lfdz;rk fl|kUr    ¼ c ½ laogu rjax fl|kUr  

¼ l ½ HkwLkUufr fl|kUr   ¼ n ½ egk}hih; fQlyu fl|kUr 

50) Whose view regarding mountain building is based on radioactive minerals? 

(a) Kober   (b)  Jolly      (c)  Dally   (d)  Holmes 

ioZr fuekZ.k ls lEcfU/kr fdldk fopkj jsfM;kslfdz; inkFkksZa ij vk/kkfjr gS\    

¼ v ½  dkscj   ¼ c ½ tksyh  ¼ l ½ MSyh   ¼ n ½ gksEl 

51) Holmes thermal convection theory of mountain building came into existence in -------. 

(a) 1882-83   (b)  1928-29    (c)  1954-55    (d)  1982-83 

ioZr fuekZ.k ls lEcfU/kr gksEl dk rkih; laogu rjax fl|kUr &&&& bZ0 esa vfLrRo esa vk;kA    

¼ v ½  1882-83   ¼ c ½ 1928-29   ¼ l ½ 1954-55   ¼ n ½ 1982-83 

52) Which inner layer of the earth has maximum reserve of radioactive minerals? 



(a) Sial    (b)  Sima    (c)  Nife   (d)  Core 

i`Foh ds fdl vkUrfjd ijr esa jsfM;ks lfdz; [kfutksa dk vf/kdre HkaMkj gS\    

¼ v ½  fl;ky    ¼ c ½ lhek  ¼ l ½ fuQs   ¼ n ½ dksj 

53) Convection current originates from which of the inner layer of the earth? 

(a) Sial   (b)  Sima      (c)  Nife   (d)  Core 

i`Foh ds fdl vkUrfjd ijr lssa laogu rjax dh mRifr gksrh gS\ 

¼ v ½  fl;ky   ¼ c ½ lhek ¼ l ½ fuQs  ¼ n ½ dksj 

54) Concept of ascending and descending currents is found in which theory of mt. building? 

(a) Joly   (b)  Jeffrey      (c)  Holmes   (d)  Kober 

ioZr fuekZ.k ds fdl fl|kUr esa vkjksgh ,oa vojksgh /kkjkvksa dh ladYiuk dh xbZ gS\    

¼ v ½  tksyh   ¼ c ½ tsQzs  ¼ l ½ gksEl   ¼ n ½ dkscj 

55) Holmes geosyncline is formed in which of the stage of mountain building? 

(a)  First stage  (b)  Second stage      (c)  Third stage  (d)  None 

gksEl dh HkwlUufr;kWa ioZr fuekZ.k ds fdl voLFkk esa fufeZr gksrh gS\    

¼ v ½  izFke voLFkk   ¼ c ½ f}rh; voLFkk ¼ l ½ rr̀h; voLFkk  ¼ n ½ dksbZ ugha 

56) Which of the following is not the internal layer of the earth according to Holmes? 

(a) Granodiorite  (b)  Silicate      (c)  Eclozite   (d)  Amphibolite 

gksEl ds vuqlkj fuEu esa ls dkSu ìFoh dk vkUrfjd ijr ugha gS\    

¼ v ½  xzSuksMk;ksjkbV  ¼ c ½ flfydsV  ¼ l ½ bDykstkbZV   ¼ n ½ ,EQhcksykBV 

57) In which stage of mt. building, the motion of convection current becomes maximum? 

(a) First stage   (b)  Second stage     (c)  Third stage   (d)  No stage 

ioZr fuekZ.k ds fdl voLFkk esa laogu rjax dh xfr vf/kdre gksrh gS\    

¼ v ½  izFke voLFkk   ¼ c ½ f}rh; voLFkk  ¼ l ½ rr̀h; voLFkk  ¼ n ½ fdlh esa ugha 

58) According to Holmes, geosyncline is formed at which of the following place? 

(a) Plateau region  (b)  Continental shelf area   (c)  Desert area  (d)  Plain area 

HkwlUrqyu ds lUnHkZ esa fdldk fopkj nwljs ds fopkj dh rqyuk esa vf/kd yksdfiz; gS\    

¼ v ½  iBkjh {ks=   ¼ c ½ egk}hih; eXurV  ¼ l ½ jsfxLrkuh {ks=  ¼ n ½ eSnkuh Hkkx 

59) Which stage of Holme‟s mt. building becomes the longest? 

(b) First Stage  (b) Second Stage (c)  Third Stage  (d)  All of these 

gksEl ds ioZr fuekZ.k fl|kUr esa lcls yEch voLFkk fdl voLFkk dh gksrh gS\    

¼ v ½  izFke voLFkk ¼ c ½ f}rh; voLFkk ¼ l ½ r`rh; voLFkk ¼ n ½ lHkh voLFkk,Wa 



60)  Motion of convection current becomes fastest in ----- stage of Holmes‟ mountain building. 

(c) First Stage  (b)  Second Stage      (c)  Third Stage   (d)  In all stages 

gksEl ds ioZr fuekZ.k esa laogu rjax dh xfr fdl voLFkk esa vf/kdre osxorh gksrh gS \    

¼ v ½  lHkh voLFkk,Wa ¼ c ½ r`rh; voLFkk  ¼ l ½ f}rh;  voLFkk   ¼ n ½ izFke voLFkk  

UNIT – 2    Chapter-1 : Fluvial topography  ¼v/;k;&1 % tyh; LFkykd`fr ½ 

61)  V-shaped valley is formed at which stage of the river? 

(a) Youthful stage   (b)  Maturity stage    (c)   Old  stage  (d)  Delta stage 

unh dh fdl voLFkk esa V &vkdkj dh ?kkVh dk fuekZ.k gksrk gS \    

¼ v ½  ;qokoLFkk     ¼ c ½ izkS<+koLFkk    ¼ l ½  o`)koLFkk   ¼ n ½ MsYVkbZ voLFkk 

62)     Serpentile way of the river is called -----------? 

(a)     Delta   (b)  Pot hole        (c)   Meander  (d)  Ox-bow lake 

unh ds lihZys jkLrs dks &&&&&&&&&&&&&  dgrs gSa \    

¼ v ½   MsYVk     ¼ c ½ tyxfrZdk    ¼ l ½  foliZ   ¼ n ½ NkM+u >hy 

63)   At which of the following place gaurge is formed? 

(a)    Plain        (b)  Delta        (c)   Mountain   (d)  Tarai 

fuEu esa ls fdl LFkku ij xkWtZ dk fuEkkZ.k gksrk gS \    

¼ v ½  eSnku     ¼ c ½ MsYVk   ¼ l ½  ioZr   ¼ n ½ rjkbZ 

64) Falling water in river valley is called --------------------? 

(a) Waterfall   (b)  Spring    (c)   Artesian well     (d)  Questa 

unh ?kkVh esa mij ls uhps fxjrs ty dks &&&&&&&&&&& dgrs gSaA    

¼ v ½  tyizikr     ¼ c ½ >juk    ¼ l ½  mRJkoh dqvkWa         ¼ n ½ DosLVk 

65)    Caniyon is formed at which of the following place? 

(a) Mountain  (b)  Taria     (c)   Plain  (d)  Delta 

fuEu esa ls fdl LFkku ij dsfu;u dk fuekZ.k gksrk gS \    

¼ v ½  ioZr     ¼ c ½ rjkbZ    ¼ l ½  eSnku  ¼ n ½ MsYVk 

66)   Delta has not been formed at the mouth of which of the following river? 

(a) Godawari   (b)  Tapti     (c)   Krishna    (d)  Cauvery 

fuEu esa ls fdl unh ds eqgkus ij MsYVk dk fuekZ.k ugha gqvk gS \    

¼ v ½  xksnkojh     ¼ c ½ rkIrh    ¼ l ½  d`’.kk  ¼ n ½ dkosjh 

67)   Peneplain is index of which of the following stage of a river ? 

(a) Youthful stage  (b)  Maturity stage    (c)   Late maturity stage    (d)  Old stage 



leizk; eSnku unh ds fdl voLFkk dk lwpd gS \    

¼ v ½  ;qokOLFkk     ¼ c ½ izkS<+koLFkk   ¼ l ½ mrj izkS<+koLFkk     ¼ n ½ o`)koLFkk    

68)   Deep and narrow river valley is called ----------? 

(a)       Canyon   (b)  Embankment     (c)   Gaurge   (d)  Hogback 

xgjh ,oa ladh.kZ unh ?kkVh dks &&&&&& dgrs gSa \    

¼ v ½   dsfu;u     ¼ c ½ rVcU/k          ¼ l ½  xkWtZ    ¼ n ½ “kqdj dVd 

69)    Which of the following is not a tupe of meander? 

(a) Delta meander     (b)  Incised meander   

(c)   Entrenched  meander   (d)  Inclosed meander 

fuEu esa ls dkSu fe;s.Mj ds izdkj ugha gS \    

¼ v ½  MsYVk foliZ        ¼ c ½ v/k%dfZrZr foliZ   

¼ l ½  xHkhjhHkwr  foliZ    ¼ n ½ f?kjk gqvk foliZ 

70) When the depth and dimension of pot holes becomes extensive, it is called ------------. 

(a) Alluvial fan  (b)  Polje           (c)   Misfit meander  (d)  Plunge pool 

tc  tyxfrZdk dh xgjkbZ ,oa foLrkj c<+ tkrk gS rks mls &&&&&& dgrs gSa \    

¼ v ½  tyks<+ ia[k     ¼ c ½jkt dq.M    ¼ l ½  csesy foliZ   ¼ n ½ voueu dq.M      

71)  Which of the following is an depositional landform in fluvial topography? 

(a) Meander         (b)  Alluvial fan       (c)   Waterfall   (d)  Pot hole 

tyh; LFkykd`fr esa fuEu esa ls dkSu fu{ksikRed LFky:i gS \    

¼ v ½  fe;sUMj     ¼ c ½ tyks<+ ia[k     ¼ l ½  tyizikr ¼ n ½ tyxfrZdk 

72) Which of the following is an erosional landform in fluvial topography? 

(a) Delta        (b)  Alluvial cone    (c)   Peneplain  (d)  Flood plain 

tyh; LFkykd`fr esa fuEu esa ls dkSu vijnukRed LFky:i gS \    

¼ v ½  MsYVk     ¼ c ½ tyks<+ “kadq   ¼ l ½  leizk; eSnku   ¼ n ½ ck<+ dk eSnku 

UNIT – 2    Chapter-2 : Arid topography  ¼v/;k;&2 % “kq’d LFkykd`fr ½ 

73)  Which of the following is not an arid topography? 

(a) Dreikanter  (b)  Gara      (c)  Arete    (d)  Inselberg 

fuEu esa ls dkSu “kq’d LFkykd`fr ugha gS\    

¼ v ½  MªkbZdkUVj   ¼ c ½ xkjk      ¼ l ½ rh{.k dVd    ¼ n ½ bUlsycxZ 

74) Which of the following is not the work of wind erosion? 

(a) Abrasion           (b)  Plucking      (c)  Deflation    (d)  Attrition 



fuEu esa ls dkSu iou dk dk;Z ugha gS\    

¼ v ½  vi?k’kZ.k   ¼ c ½ mRikVu  ¼ l ½ viokgu   ¼ n ½ lfUu?k’kZ.k 

75) Smaller desert hallow due to removal of sands from desert surface is called ---------? 

(a) Yardang  (b)  Demoiselles      (c)  Burkhan   (d)  Deflation basin 

e:LFkyh; lrg ij ckyw mM+k fy, tkus ds dkj.k fufeZr NksVs NksVs xrZ dks &&&& dgrs gSaA    

¼ v ½  ;kjnkax   ¼ c ½ HkwLrEHk  ¼ l ½ cj[kku   ¼ n ½ viokg csflu 

76) Inselberg is also called ------------------------. 

(a) Sand dune  (b)  Bornhardt      (c)  Zeugen   (d)  Mushroom rock 

bUlsycxZ dks &&&&&&&&&&&& Hkh dgk tkrk gSA    

¼ v ½  ckywdk Lrqi   ¼ c ½ cksuZgkVZ  ¼ l ½ T;wxsu   ¼ n ½ N=df”kyk 

77) Burkhan belongs to which of the following topography? 

(a) Fluvial topography (b)  Karst topography (c)  Arid topography  (d)  Glacial topography 

cj[kku fuEu esa ls fdl LFkykd`fr esa curk gS\    

¼ v ½  tyh; LFkykd`fr ¼ c ½ dkLVZ LFkykd`fr ¼ l ½ “kq’d LFkykd`fr ¼ n ½ fgekuh LFkykd`fr 

78) Which of the following is a depositional arid topography? 

(a) Ventifacts  (b)  Mushroom      (c)  Stone Latice   (d)  Sief 

fuEu ess ls dkSu fu{ksikRed “kq’d LFkykd`fr gS\    

¼ v ½  osUVhQSDV   ¼ c ½ eq”k:e  ¼ l ½ Tkkyd   ¼ n ½ lhQ 

79) Which of the following is a depositional arid topography? 

(a) Wind window  (b)  Sand dune      (c)  Yardang   (d)  Bridge and window 

fuEu ess ls dkSu fu{ksikRed “kq’d LFkykd`fr gS\    

¼ v ½  iou okrk;u  ¼ c ½ ckywdkLrwi  ¼ l ½ ;kjnkax  ¼ n ½ iqy vkSj f[kM+dh 

80) Which of the following is not an erosional arid topography ? 

(a) Loess  (b)  Inselberg     (c)  Zeugen   (d)  Dreikanter 

 fuEu ess ls dkSu vijnukRed “kq’d LFkykd`fr gS\      

¼ v ½  yks;l   ¼ c ½ bUlsycxZ  ¼ l ½ T;wxsu ¼ n ½ MªkbdkUVj 

81) Which of the following is formed due to transportation work of wind? 

(a) Mushroom  (b)  Dune  (c)  Stone latice   (d)  None 

fuEu esa ls dkSu iou ds ifjogu dk;Z ls fufeZr gksrk gS\    

¼ v ½  eq”k:e   ¼ c ½ ckywdkLrqi  ¼ l ½ tkyd   ¼ n ½ dksbZ ugha 

 



82) In which of the following state of India, arid topography is formed? 

(a) Bengal   (b)  Punjab       (c)  Rajasthan   (d)  Orissa 

Hkkjr ds fdl jkT; esa “kq’d LFkykd`fr dk fuEkkZ.k gksrk gS\    

¼ v ½  cWaxky   ¼ c ½ iatkc  ¼ l ½ jktLFkku   ¼ n ½ mM+hlk 

83)   Which of the following is not topography of semi-arid region? 

(a) Barkhan   (b)  Playa    (c)   Bajada    (d)  Balson 

fuEu esa ls dkSu v)Z&e:LFkyh; izns”k dh LFkykd`fr ugha gS \    

¼ v ½  cj[kku     ¼ c ½ Iyk;k   ¼ l ½ ctkMk   ¼ n ½ ckylu 

84)    Which of the following is not a type of sand dune on the basis of location? 

(a) Coastal dune  (b)  Piedmont dune     (c)   Desert dune  (d)  River bank dune. 

fuEu esa ls dkSu fLFkfr ds vk/kkj ij ckywdkLrqi ds izdkj ugha gS \    

¼ v ½  leqnzrêh; ckywdkLrqi      ¼ c ½ isMhesUV ckywdkLrqi   

¼ l ½  e:LFkyh; ckywdkLrqi  ¼ n ½ unh rV ds ckywdkLrqi 

UNIT – 2    Chapter-3 : Glacial topography  ¼v/;k;&3 % fgekuh LFkykd`fr ½ 

85)  Which of the following is not a glacial topography? 

(a) Hanging valley  (b)  U-shaped valley       (c)  Rift valley  (d)  Moraine 

fuEu esa ls dkSu fgekuh LFkykd`fr ugha gS\    

¼ v ½  yVdrh ?kkVh ¼ c ½ ;w&vkkdkj dh ?kkVh ¼ l ½ /kWalku ?kkVh  ¼ n ½ fgeks<+ 

86) Which of the following is formed by depositional work of a glacier? 

(a) Nunatak       (b)  Drumlin      (c)  Tarn lake       (d)  Fiords 

fuEu esa ls dkSu fgekuh ds fu{ksi dk;Z ls fufeZr gksrk gS\    

¼ v ½  uqukVd   ¼ c ½ Mªefyu  ¼ l ½ VkuZ >hy ¼ n ½ fQ;MZ 

87) Which of the following is formed by depositional work of a glacier? 

(a) Tarn  (b)  Horn      (c)  Crag and tail   (d)  Knob and basin topography 

fuEu esa ls dkSu fgekuh ds fu{ksi dk;Z ls fufeZr gksrk gS\    

¼ v ½  VkuZ   ¼ c ½ gkWuZ  ¼ l ½ J`ax iqPN   ¼ n ½ ukWc ,oa csflu LFkykd`fr 

88) Which of the following is not the name of cirque? 

(a) Kar in Germany  (b)  Thori in France    (c)  Botn in Norway   (d)  Cwm in Wales 

fuEu esa ls dkSu ldZ dk uke ugha gS\    

¼ v ½  teZuh esa dkj   ¼ c ½ QzkWal esa Fkksjh  ¼ l ½ ukosZ esa ckWV~u   ¼ n ½ osYl esa Doe 

 



89) Which of the following is not a component part of a cirque? 

(a) Head wall  (b)  Tail      (c)  Basin   (d)  Threshold 

fuEu esa ls dkSu ,d ldZ dk Hkkx ugha gS\    

¼ v ½  “kh’kZ fnoky   ¼ c ½ iqWaN  ¼ l ½ csflu   ¼ n ½ pkS[kVk 

90) Which of the following is glacio-fluvial topography? 

(a) Nunatak   (b)  Morain      (c)  Eskar  (d)  Giants stairway 

IysV “kCnkoyh dk iz;ksx loZizFke fdlus fd;k\    

¼ v ½  uqukVd    ¼ c ½ fgeks<+  ¼ l ½ ,Ldj  ¼ n ½ nSR;kdkj lksiku 

91) The zone between permanent and seasonal snow is called --------. 

(a) Snow line  (b)  Ice cap      (c)  Snow field  (d)  Ice shelf 

LFkk;h ,oa vLFkk;h fge ds chp dk Hkkx &&&&& dgykrk gSA    

¼ v ½  fge js[kk   ¼ c ½ fge Vksih  ¼ l ½ fge {ks=   ¼ n ½ fge NTtk 

92) Bergschrund is formed in which of the following topography? 

(a) Nunatak  (b)  Drumlin     (c)  Cirque   (d)  Hanging valley 

oxkZJzq.M dk fuekZ.k fuEu esa ls fdl LFkykd`fr esa gksrk gS\    

¼ v ½  uqukVd ¼ c ½ Mªefyu  ¼ l ½ ldZ   ¼ n ½ yVdrh ?kkVh 

93) In which of the following topography, Peternaster Lake is formed? 

(a) Cirque  (b)  U-shaped valley     (c)  Giants stairway   (d)  Loess 

fdl LFkykd`fr esa isVjukLVj >hy dk fuekZ.k gksrk gS\    

¼ v ½  ldZ   ¼ c ½ ;w&vkdkj dh ?kkVh ¼ l ½ nSR;kdkj lksiku  ¼ n ½ yks;l 

94) At which of the following, hanging valley is formed? 

(a) At meeting point of a big and small glacier (b)  On the mountain peak    

(c)  Near fiord   (d) near giants staireway 

yVdrh ?kkVh dk fuekZ.k dgkWa gksrk gS\    

¼ v ½  ,d cM+k ,oa ,d NksVk fgekuh ds feyufoUnq ij   ¼ c ½ ioZr pksVh ij 

¼ l ½ fQ;MZ ds fudV   ¼ n ½ nSR;kdkj lksiku ds fudV 

95) Permanent snow field is not found in which of the following continent? 

(a) Asia   (b)  Europe     (c)   Austrelia    (d)  North America 

fuEu esa ls fdl egkns”k esa LFkk;h fge {ks= ugha feyrs gSa \    

¼ v ½  ,f”k;k     ¼ c ½ ;qjksi   ¼ l ½  vkLVªsfy;k   ¼ n ½ mrjh vesfjdk 

96) Tarn lake is associated with which of the following topography? 

(b) Cirque   (b)  Hanging valley     (c)   Giant‟s stairway  (d)  Barrier reef 



VkuZ >hy fuEu esa ls fdl LFkykd`fr  \    

¼ v ½  ldZ     ¼ c ½ yVdrh ?kkVh    ¼ l ½  nSR;kdkj lksiku   ¼ n ½ vojks/kd fHkfr 

UNIT – 2    Chapter-4 : Volcanic topography  ¼v/;k;&4 % Tokykeq[kh; LFkykd`fr ½ 

97)  Which of the following is not a type of volcano as per periodicity of eruption? 

(a) Active  (b)  Dormant      (c)  Stromboli   (d)  Dead 

mn`xkj  dh vof/k ds vuqlkj fuEu esa ls dkSu Tokykeq[kh ds izdkj ugha gS\    

¼ v ½  tkxzr   ¼ c ½ lqlqIr ¼ l ½ LVªkWEcksyh   ¼ n ½ èr 

98) A narrow pipe through which the internal lava erupts on the earth surface is called ------? 

(a) Volcanic crator  (b)  Volcanic vent      (c)  Volcanic pipe   (d)  Volcanic cone 

og ladh.kZ ikbi ftlls gksdj vkUrfrd ykok Hkwry ij mnxkfjr gksrk gS \    

¼ v ½  Tokykeq[kh dzSVj ¼ c ½ Tokykeq[kh eq[k ¼ l ½ Tokykeq[kh uyh ¼ n ½ Tokykeq[kh “kadq 

99) Which of the following is not a central eruption type of volcano? 

(a) Mud flow  (b)  Peleean type    (c)  Hawaiin type   (d) Visuvius type 

fuEu esa ls dkSu dsUnzh; mn~xkj izdkj dk Tokykeq[kh ugha gS  \    

¼ v ½  iad izokg   ¼ c ½ fify;u izdkj ¼ l ½ gokb;u izdkj ¼ n ½ folqfo;l izdkj 

100) Which of the following is not an intrusive volcanic topography? 

(a) Lava dome  (b)  Lava plain      (c)  Sill    (d)  Dyke 

fuEu esa dkSu vkUrfjd Tokykeq[kh LFkykd`fr ugha gS \    

¼ v ½  ykok xqEcn   ¼ c ½ ykok eSnku  ¼ l ½ fly   ¼ n ½ Mkbd 

101) Which of the following is not an intrusive volcanic topography? 

(a) Lava plateau  (b)  Lopolith     (c)  Laccolith   (d)  Batholith 

fuEu esa dkSu vkUrfjd Tokykeq[kh LFkykd`fr ugha gS\    

¼ v ½  ykok iBkj   ¼ c ½ yksiksfyFk ¼ l ½ ySdkssfyFk ¼ n ½ cSFkkssfyFk 

102) Which of the following is not an elevated form of volcanic cones? 

(a) Cinder cone  (b)  Composite cone    (c)  Parasite cone   (d)  Crater 

fuEu esa dkSu Tokykeq[kh “kadq dk mfRFkr :i ugha gS\    

¼ v ½  flUMj  “kadq  ¼ c ½ fefJr “kadq  ¼ l ½ vkfJr “kadq   ¼ n ½ dzSVj 

103) Dipression formed at the mouth of a volcanic vent is called ------------. 

(a) Caldera  (b)  Geyser      (c)  Crater  (d)  Vent 

Tokykeq[kh uyh ds mijh eq[k ij fufeZr xrZ dks &&&&&&& dgh tkrk gSA    

¼ v ½  dkYMsjk   ¼ c ½ xslj ¼ l ½ dzSVj   ¼ n ½ uyh 



104) A vent through which there is emission of gases and water vapour is called --------. 

(a) Fumaroles    (b)  Geyser        (c)  Lava   (d)  Tsunami 

og eq[k ftlls gksdj xSl ,oa tyok’i fudyrs gSa] &&&&&&&& dgykrk gSA    

¼ v ½  /kqvkWajs   ¼ c ½ xslj   ¼ l ½ ykok   ¼ n ½ lqukeh 

105) Fumaroles take their origin due to ------------volcanic eruption? 

(a) Central  (b)  Hawaiian      (c)  Active   (d)  Fissure 

&&&&& Tokykeq[kh mn~xkj ds dkj.k /kqWavkjs dh mRifr gksrh gSA    

¼ v ½  dsUnzh;   ¼ c ½ gokbZ;u  ¼ l ½ tkxzr  ¼ n ½ njkjh 

106) Stromboli is an example of ------------- volcanic eruption. 

(a) Visuvious  (b)  Dormant      (c)  Active   (d)  Dead 

LVªkEcksyh &&&&&&& Tokykeq[kh mn~xkj dk mnkgj.k gSA 

¼ v ½  folqfo;l   ¼ c ½ lqlqIr  ¼ l ½ tkxzr   ¼ n ½ èr 

107) In which of the following the most extensive area of fumaroles is found? 

(c) Alaska    (b)  Norway    (c)   Japan   (d)  Greenland 

HkwlUrqyu dh ladYiuk loZizFke fdlus izfrikfnr fd;k \    

¼ v ½  vykLdk     ¼ c ½ukosZ    ¼ l ½  tkiku  ¼ n ½ xzhuySaM 

108) Which type of followingtype of volcanic eruption becomes the most harmful to 

 humanity? 

(d) Visuvious   (b)  Vulcanian     (c)   Pilian    (d)  Stramboli 

ekuork ds fy, lokZf/kd [krjukd fuEu esa ls fdl izdkj dk Tokykeq[kh; mn~xkj gksrk gS \    

¼ v ½  folqfo;l   ¼ c ½ oYdSfu;u    ¼ l ½  fify;u   ¼ n ½ LVªkEcksyh 

UNIT – 2    Chapter-5 : Coastal topography  ¼v/;k;&5 % rVh; LFkykd`fr ½ 

109) Which of the following is not the erosional agent in coastal region? 

(a) Tidal wave  (b)  Sea wave      (c)  Wave frequency   (d)  Tsunami 

leqnzrêh; izns”k esa fuEu esa ls dkSu vijnu dk nwr ugha gS\    

¼ v ½  Tokjh; ygj   ¼ c ½ leqnzh ygj ¼ l ½ rjax vko`fr   ¼ n ½ lqukeh 

110) Which of the following is not a coastal totpgraphy? 

(a) Cave  (b)  Beach     (c)  Ponor   (d)  Hook 

fuEu esa ls dkSu leqnzrêh; LFkykd`fr ugha gS \    

¼ v ½  dUnjk   ¼ c ½ chp  ¼ l ½ iksuksj   ¼ n ½ gqd 

111) Steep rocky sea coast rising almost vertically above sea water is called ------. 

(a) Coastal cliff  (b)  Cove       (c)  Blow hole      (d)  Stack 



leqnzh ty ls mij rhoz pêkuh leqnzh rV &&&&& dgykrk gSA     

¼ v ½  rêh; fDyQ   ¼ c ½ y?kqfuosf”kdk  ¼ l ½ okr fNnz  ¼ n ½ LVSd 

112) Which of the following is not a type of cliff? 

(a) Composite cliff  (b)  Weak cliff      (c)  Resistant cliff   (d)  Notch cliff 

fuEu esa ls dkSu rVh; fDyQ ds izdkj ugha gS\    

¼ v ½  feJ fDyQ    ¼ c ½ detksj fDyQ  ¼ l ½ vojks/kh fDyQ  ¼ n ½ [kkWap fDyQ 

113) Which of the following is not a zone of wave cut platforms? 

(a) Meso-littoral zone (b)  Front-littoral zone (c)  Supra-littoral zone (d)  Sub-littoral zone 

 fuEu esa ls dkSu rjax ?kf’kZr osnh dk eaMy ugha gS\     

¼ v ½  e/;rêh; eaMy ¼ c ½ lhekxzrêh; eaMy ¼ l ½mifjrêh; eaMy ¼ n ½ fuEurêh; eaMy    

114) Which of the following is not the coastal depositional landform? 

(a) Beach  (b)  Bar     (c)  Hook   (d)  Cove 

fuEu esa ls dkSu leqnzrêh; fu{ksikRed LFkykd`fr ugha gS\    

¼ v ½  iqfyu   ¼ c ½ jksf/kdk  ¼ l ½ gqd   ¼ n ½ v.Mkdkj dVku 

115) Which of the following is not the coastal depositional landform? 

(a) Loop  (b)  Skerry      (c)  Spit   (d)  Tombolo 

fuEu esa ls dkSu leqnzrêh; fu{ksikRed LFkykd`fr ugha gS\    

¼ v ½  yqi   ¼ c ½ Ldsjh ¼ l ½ fLiV   ¼ n ½ VksEcksyks 

116) Sand ridge formed / deposited paralled to shoreline is called ------------. 

(a) Loop  (b)  Tombolo      (c)  Bars   (d)  Lagoon 

lkxjh; fdukjk ds lekukUrj fu{ksfir ckyw dVd dks &&&&& dgk tkrk gSA     

¼ v ½  ywi   ¼ c ½ VksEcksyks  ¼ l ½ jksf/kdk   ¼ n ½ >hy 

117) A bar connecting two main lands is called ---------------------. 

(a) Barrier  (b)  Loop      (c)  Looped bar   (d)  Tombolo 

nks eq[; Hkwfe dks tksM+us okyh jksf/kdk &&&&&& dgykrk gSA 

¼ v ½  jks/k   ¼ c ½ ywi ¼ l ½ NYysnkj jksf/kdk   ¼ n ½ VksEcksyks 

118) Bar formed paralled to the coast but not atteached to land is ----------. 

(a) Offshore bar  (b)  Barrier      (c)  Spit   (d)  Hook 

rV ds lekUkkUrj fufeZr jksf/kdk tks Hkwfe ls tqM+k u gks &&&&&&dgykrk gSA    

¼ v ½  virV jksf/kdk   ¼ c ½ jks/k  ¼ l ½ fLiV   ¼ n ½ gqd 

 



119)  Which of the following is not a depositional topography in coastal region? 

(a) Beach   (b)  Loop    (c)   Bar    (d)  Cliff 

leqnzrêh; izns”k es fuEu esa ls dkSu fu{ksikRed LFkykd`fr ugha gS \    

¼ v ½  iqfyu     ¼ c ½ ywi    ¼ l ½  jksf/kdk   ¼ n ½ fDyQ 

120) At the distance towards sea from coast where sea wave breaks is called -------- line.  

(a) Coast  (b)  Shore    (c)   Plunge   (d)  Surf 

leqnzrV ls lkxj dh vksj dh og nwjh tgkWa leqnzh ygj VwVrh gS &&& js[kk dgykrh gSA  

¼ v ½  lkxjh; rV     ¼ c ½ lkxjh; fdukjk    ¼ l ½  izrksM+u   ¼ n ½ lQZ 

UNIT – 2    Chapter-6 : Faulted topography  ¼v/;k;&6 % Hkzf”kr LFkykd`fr ½ 

121) A fracture in the crustal rock is called -------------------? 

(a) Fold  (b) Dip      (c)  Fault   (d)  Scarp 

HkwiVy ds pêkuksa esa cus VwVu o pVdu dks &&&&& dgk tkrk gSA    

¼ v ½  oyu   ¼ c ½ ufr  ¼ l ½ Hkza”k   ¼ n ½ dxkj 

122) Fault is caused by -------------------  force. 

(a) Buayancy   (b)  Tension     (c) Compression   (d)  upward 

Hkza”k dk fuekZ.k &&&&&&&&&&& cy ds dkj.k gksrk gSA    

¼ v ½  mRkIykou   ¼ c ½ ruko  ¼ l ½ ncko   ¼ n ½ mifjeq[kh 

123) Steep wall like slope caused by faulting is called ------------- . 

(a) Fault scarp   (b)  Fault plane  (c)  Fault dip   (d)  Foot wall 

Hkza”ku ds dkj.k mRiUu [kM+s nhokjuwek <ky dks &&&&&& dgk tkrk gSA    

¼ v ½  Hkza”k dxkj   ¼ c ½  Hkza”k ry  ¼ l ½ Hkza”k ufr    ¼ n ½ ikn fHkfr    

124) Which of the following is not a type of fault? 

(a) Normal fault   (b)  Reverse fault      (c)  Monoclinal fault   (d)  Lateral  fault 

fuEu esa ls dkSu Hkza”k ds izdkj ugha gS\    

¼ v ½  lkekU; Hkza”k   ¼ c ½ O;qRdze Hkza”k  ¼ l ½ ,dur Hkza”k   ¼ n ½ ik”oZorhZ Hkza”k 

125) Angle between fault plane and horizontal plane is called -------------------------? 

(a) Fault plane  (b)  Fault scarp   (c)  Fault dip      (d)  Fault joint 

Hkza”k ry ,oa {kSfrt ry ds e/; ds dks.k dks &&&&&&& dgk tkrk gS\    

¼ v ½  Hkza”k ry   ¼ c ½ Hkza”k dxkj    ¼ l ½ Hkza”k ufr  ¼ n ½ Hkza”k tksM+ 

126) Which of the following is not the expression of fault? 

(a) Synclinorium   (b)  Graben     (c)  Step fault   (d)  Rift valley 



HkwlUrqyu ds lUnHkZ vf/kd yksdfiz; gS\    

¼ v ½  lefHkufr   ¼ c ½ xzkcsu ¼ l ½ lksikuh Hkza”k   ¼ n ½ /kWalku ?kkVh 

127) A series of faults in an area is called --------------------? 

(a) Rift valley   (b)  Normal fault      (c)  Graben   (d)  Step fault 

fdlh {ks= esa fufeZr vusd Hkza”kksa ds dze dks &&&&&&& dgk tkrk gSA  

¼ v ½  /kWalku ?kkVh   ¼ c ½ lkekU; Hkza”k   ¼ l ½ leqnzh csflu   ¼ n ½ leqnzh IYSkVQkWeZ 

128) Deepest graben in oceans is found in the form of ---------------? 

(a) Oceanic deep  (b)  Ocean ridge      (c)  Ocean basin      (d)  oceanic platform 

egklkxjksa esa lokZf/kd xgjh xzkcsu &&&&&&&&&& :i esa ik;k tkrk gSA  

¼ v ½  leqnzh [kkbZ   ¼ c ½ leqnzh dVd ¼ l ½ leqnzh csflu ¼ n ½ leqnzh IysVQkWeZ 

129) Dead Sea of Asia is an example of ----------------------? 

(b) Normal fault  (b)  Reverse fault      (c)  Rift valley    (d)  Anticlinorium 

,f”k;k dk e`r lkxj &&&&&&&&&& dk mnkgj.k gSA  

¼ v ½  lkekU; Hkza”k   ¼ c ½ O;qRdze Hkza”k  ¼ l ½ /kWalku ?kkVh   ¼ n ½ leviufr 

130) Normal tensional force produces only ----------------? 

(a) Cracks   (b)  Fold     (c)  Graben   (d)  Scarp 

lkekU; ruko cy dsoy &&&&&&&&&& mRiUu djrk gS\    

¼ v ½  pVdusa    ¼ c ½ oyu  ¼ l ½ xzkcsu   ¼ n ½ dxkj 

131)  Which of the following is not related with fault? 

(a) Syncline   (b)  Fault dip   (c)   Fault plane   (d)  Erosional scarp 

fuEu esa ls dkSu Hkza”k ls lEcfU/kr ugha gS \    

¼ v ½  lUufr     ¼ c ½ Hkza”kufr    ¼ l ½  Hkza”kry    ¼ n ½ vijnu dxkj 

132) Which of the following hypothesis is not related with the origin of rift valley? 

(b) Tensional  (b)  Compressional     (c)   Nebular   (d)  Gravity Survey 

HkwlUrqyu dh ladYiuk loZizFke fdlus izfrikfnr fd;k \    

¼ v ½  rukoewyd     ¼ c ½ lEihMukRed    ¼ l ½  fugkfjdk   ¼ n ½ xq:Ro losZ{k.k 

UNIT – 3    Chapter-1 : Salinity of Ocean water  ¼v/;k;&1 % leqnzh ty dh yo.krk ½ 

133) Which salt is found in maximum quantity in oceanic water? 

(a) Magnesium bromide  (b)  Calcium sulphate     

(c)  Sodium chloride   (d) Magnesium chloride 

leqnzh ty esa fdl ued dh vf/kdre ek=k ikbZ tkrh gS\    



¼ v ½  eSxusf”k;e czksekbM   ¼ c ½ dSyfl;e lYQsV   

¼ l ½ lksfM;e DyksjkbM   ¼ n ½ eSxusf”k;e DyksjkbM 

134) The quantity of Sodium chloride in river water is --------------- per thousand. 

(a)  40  (b)   36    (c)   16   (d)   2  

ufn;ksa ds ty esa lksfM;e DyksjkbM  dh ek=k &&&&&& izfr gtkj gksrh gSA     

¼ v ½  40   ¼ c ½ 36  ¼ l ½ 16   ¼ n ½ 2 

135) Higher the evaporation --------------- the salinity? 

(a) Lower  (b)  Higher     (c)  Medium   (d)  Negligible  

mPPkrj ok’ihdj.k] &&&&&&&&& yo.krk\    

¼ v ½  fuEurj   ¼ c ½ mPprj  ¼ l ½ e/;e   ¼ n ½ uXk.; 

136) Which is the saltiest ocean? 

(a) Atlantic   (b)  Indian      (c)  Pacific   (d)  Arctic  

lokZf/kd yo.krk;qDr egklkxj dkSu gS \    

¼ v ½  vVykafVd  ¼ c ½ fgUn  ¼ l ½ iz”kkUr   ¼ n ½ vkdZfVd  

137) Which Ocean has the lowest salinity? 

(a) Arctic  (b) Pacific  (c)  Atlantic   (d)  Indian   

U;wure yo.krk okyk egklkxj dkSu gS \    

¼ v ½  vkdZfVd  ¼ c ½ iz”kkUr  ¼ l ½ vVykafVd ¼ n ½ fgUn  

138) An imaginary line connecting the places of equal salinity is called -----------. 

(a) Iso salt  (b)  Isotherm      (c)  Isohaline   (d)  Isobar 

leku yo.krk okys LFkkuksa dks feykus okyh dkYifud js[kk &&&&& dgykrh gSA     

¼ v ½  leku yo.k   ¼ c ½ lerki js[kk  ¼ l ½ leyo.k js[kk   ¼ n ½ leHkkj js[kk 

139) Which of the following is not the oceanic part having more than average salinity? 

(a) Persian gulf  (b)  Mediterranean sea    (c)  Red sea   (d)  Japan sea 

fuEu esa ls dkSu lkekU; o vkSlr ls vf/kd yo.krk okys lkxjh; Hkkx ugha gS\    

¼ v ½  Qkjl dh [kkM+h  ¼ c ½ Hkwe/; lkxj ¼ l ½ yky lkxj   ¼ n ½ tkiku lkxj 

140) Which of the following is not the controlling factor of oceanic salinity? 

(a) Heavy downpour  (b)  Atmospheric pressure   (c)  Evaporation   (d)  Plancton 

fuEu esa ls dkSu lkxjh; yo.krk dk fu;a=d ugha gS\    

¼ v ½  vR;f/kd o’kkZ   ¼ c ½ ok;qeaMyh; ncko  ¼ l ½ ok’ihdj.k   ¼ n ½ IySaDVu 

 



141) The highest salinity is found in --------------? 

(a)    Van lake       (b)  Chad lake     (c)  Dead sea   (d)  Red Sea 

lokZf/kd yo.krk &&&&&&&&&&& esa ikbZ tkrh gS\    

¼ v ½  okWau >hy   ¼ c ½ PkkM >hy   ¼ l ½ e`r lkxj    ¼ n ½ yky lkxj 

142) The magnitude of salinity at the mouth of big rivers ---------------. 

(a) Increases       (b)  Decreases     (c)  Fluctuates    (d)  No change 

cM+h Ufn;ksa ds eqgkus ij yo.krk dh ek=k &&&& gksrh gSA     

¼ v ½  c<+rh gS   ¼ c ½ ?kVrh gS  ¼ l ½ ?kV&c<+ gksrh gS  ¼ n ½ dksbZ ifjorZu ugha   

143) Which of the following salinity percentage is not correct? 

(a) Dead sea (238%)   (b)  Van lake  (330%)  

(c)  Great Salt lake  (103%)  (d)  Titikaka lake (203%) 

fuEu esa ls dkSu lgh ugha gS\    

¼ v ½  e`r lkxj (238%)    ¼ c ½ okWu >hy (330%)  

¼ l ½ xzsV lkYV ysd (103%)  ¼ n ½ fVVhdkdk >khy  (203%) 

144) Salinity ------------------ due to melting of oceanic snow. 

(a) No change  (b) Increases  (c)  Decreases   (d)  Fluctuates 

lkxjh; fge ds fi?kyus ls yo.krk &&&&&&&&&& gSSA 

¼ v ½  dksbZ ifjorZu ugha   ¼ c ½ c<+rh gS   ¼ l ½  ?kVrh gS   ¼ n ½ ?kV&c<+ gksrh gS 

UNIT – 3    Chapter-2 : Ocean Deposits  ¼v/;k;&2 % leqnzh fu{ksi ½ 

145)  Which of the following is not the terrigenous material in Ocean deposit? 

(a) Gravel   (b)   Silt    (c)  Ooze   (d)  Sand  

fuEu esa ls dkSu egklkxjh; fu{ksi esa Hkwfet inkFkZ ugha gS\    

¼ v ½  ctjh   ¼ c ½ flYV  ¼ l ½ Åt   ¼ n ½ jsr 

146) Which of the following is not the pelagic deposit? 

(a) Blue mud  (b)  Globigerina Ooze    (c)  Diotom Ooze   (d)  Pteropod Ooze 

 fuEu esa ls dkSu isykftd fu{ksi ugha gS\    

¼ v ½  uhyh iad   ¼ c ½ Xyksfctsfjuk Åt ¼ l ½ Mk;Ve Åt   ¼ n ½ VsjksiksM Åt 

147) According to Murray, pelagic deposit occurs below --------- fathoms. 

(a)          50   (b)  100     (c)  200   (d)  2000 

ejs ds vuqlkj isykftd fu{ksi &&&&&& QSne ds uhps gksrk gSA    

¼ v ½     50  ¼ c ½ 100  ¼ l ½ 200 ¼ n ½ 2000 



148) Which of the following is not a type of mud  in terrigenous deposit? 

(a) Grey mud  (b)  Green mud      (c)  Blue mud               (d)  Red mud 

fuEu esa ls dkSu Hkwfet fu{ksi esa iad ds izdkj ugha gS\    

¼ v ½  Hkwjh iad      ¼ c ½ gjh iad   ¼ l ½ uhyh iad   ¼ n ½ yky iad 

149) Which of the following is not a type of Oceanic deposit? 

(a) Boulder deposit     (b)  Pelagic deposit    

(c)  Terrigenous deposit      (d)  Volcanic material deposit 

fuEu esa ls dkSu egklkxjh; fu{ksi ds izdkj ugha gS\    

¼ v ½  oksYMj fu{ksi     ¼ c ½ isykftd fu{ksi   

¼ l ½ Hkwfet fu{ksi    ¼ n ½ Tokykeq[kh inkFkZ fu{ksi 

150) Which of the following is terrigenous deposit? 

(a) Radiolarian Ooze     (b)  Siliceous Ooze  (c)  Calcarious  Ooze  (d)  Volcanic mud 

fuEu esa ls dkSu Hkwfet fu{ksi ds vUrZxr vkrk gS\    

¼ v ½  jsfM;kysfj;u Åt ¼ c ½ flfydk iz/kku Åt ¼ l ½ pwuk iz/kku Åt ¼ n ½ Tokykeq[kh iad 

151) Calcarious ooze is found at the depth of ------------------fathom in the ocean? 

(a)      400 - 500  (b)  1000 - 2000     (c)  1200 - 1500  (d)  4000 - 5000 

Pwuk iz/kku Åt egklkxj esa &&&&&&&& QSne dh xgjkbZ esa ik;s tkrs gSa\    

¼ v ½  400 – 500 ¼ c ½ 1000 - 500  ¼ l ½ 200 - 500 ¼ n ½ 4000 - 5000 

152) Daitom ooze is found at -----------------? 

(a) Around Antarctica    (b)  Arabian sea     

(c)  Around West Indies     (d)  Brazillian coast 

Mk;Ve Åt &&&&&&&& ij ik;k tkrk gSA    

¼ v ½   vUVkdZfVdk ds pkjks vksj     ¼ c ½ vjc lkxj  

¼ l ½  if”peh }hi lewg ds pkjks vksj   ¼ n ½ czkthy rV 

153) In pelagic deposit which of the following is found in most extensive area? 

(a) Pteropod Ooze  (b)  Globigerina  Ooze    (c)  Red clay   (d)  Diatom Ooze 

isykftd fu{ksi esa fuEu esa ls dkSu lokZf/kd foLr̀r {ks= esa ik;k tkrk gS\    

¼ v ½  VsjksiksM Åt   ¼ c ½ Xyksfctsfjuk Åt   ¼ l ½  yky èfrdk  ¼ n ½Mk;Ve Åt 

154) Out of the total Oceanic deposit, red clay is extended on --------% area. 

(a)        30.1   (b)       50.6    (c)      10.1  (d)        30.6 

leLr lkxjh; fu{ksi ds &&&&&& izfr”kr Hkkx ij yky èfrdk ik;h tkrh gS\    



¼ v ½    30.1 ¼ c ½  50.6       ¼ l ½  10.1 ¼ n ½   30.6 

155) Arrange the sand deposit in order of size from coast to deep sea. 

(a) Coarse sand – medium sand -- fine sand -- very fine sand 

(b)  Very fine sand -- fine sand  – medium sand -- Coarse sand 

(c) Medium sand -- Coarse sand –very fine sand -- fine sand 

(d) Fine sand -- coarse sand – medium sand -- very fine sand 

leqnz rV ls xgjs lkxj dh vksj jsr fu{ksi dks muds vkdkj dze esa ltk,WaA    

¼ v ½  eksVh jsr & e/;e jsr & ckjhd jsr & vR;f/kd ckjhd jsr 

¼ c ½ vR;f/kd ckjhd jsr & ckjhd jsr & e/;e jsr & eksVh jsr 

¼ l ½ e/;e jsr & eksVh jsr & vR;f/kd ckjhd jsr & ckjhd jsr 

¼ n ½ ckjhd jsr & eksVh jsr & e/;e jsr & vR;f/kd ckjhd jsr 

156) Cobble, Pebble and Granule belong to which category of oceanic deposit? 

(a) Sand  (b)   Silt     (c)  Gravel  (d)  Clay 

xksykf”edk] xqfVdk ,oa df.kdk egklkxjh; fu{ksi ds fdl Js.kh esa vkrs gSa\    

¼ v ½  jsr   ¼ c ½ flYV  ¼ l ½ ctjh   ¼ n ½ èfrdk 

UNIT – 3    Chapter-3 : Coral Reef  ¼v/;k;&3 % izoky fHkfr ½ 

157) At which of the following temperature, coral polyps develop? 

(a) 40 - 410C  (b)  30 - 310C      (c)  20 - 210C  (d)   10 - 110C 

fuEu esa ls fdl rkieku ij izoky tho fodflr gksrk gS\    

¼ v ½  40 - 410C ¼ c ½ 30 - 310C ¼ l ½ 20 - 210C ¼ n ½  10 - 110C 

158) At which of the following depth, coral polyps develop? 

(a) 100 – 150 Ft.   (b)  200 – 250 Ft.         (c)  300 – 350 Ft.  (d)  500 – 550 Ft. 

fuEu esa ls fdl xgjkbZ ij izoky tho fodflr gksrk gS\    

¼ v ½  100 – 150 QhV.  ¼ c ½  200 – 250 QhV ¼ l ½ 500 – 550 QhV ¼ n ½ 500 – 550 QhV. 

159) Which of the following is not a type of coral reef? 

(a)           Atoll   (b)  Fringing    (c)  Barrier     (d)  Coral polyp 

fuEu esa ls dkSu izoky fHkfr ugha gS\    

¼ v ½     oy;kdkj    ¼ c ½ rêh;   ¼ l ½ vojks/kd ¼ n ½ izoky tho 

160) Which of the following theory was propounded by Charles Darwin? 

(a) Glacial control      (b)  Coral       (c)  Subsidence   (d)  Stand still 

IysV “kCnkoyh dk iz;ksx loZizFke fdlus fd;k\    



¼ v ½  fgekuh fu;a=.k   ¼ c ½ izoky  ¼ l ½ voryu   ¼ n ½ fLFkj LFky 

161) Coral bleaching starts due to -------------------? 

(a) Increase in oceanic termperature  (b)  Decrease in oceanic temperature    

(c)    At the mouth of rivers    (d)  Cold ocean current 

izoky fojatu &&&&&&&& ds dkj.k izkjEHk gks tkrk gS\    

¼ v ½  leqnzh rkieku esa o`f)    ¼ c ½ leqnzh rkieku esa deh   

¼ l ½  ufn;ksa ds eqgkus ij     ¼ n ½ Ba<h egklkxjh; /kkjk 

162) Where is the Great Barrier reef located? 

(a)      Britain  (b)      Austrelia     (c)  Madagaskar   (d)      Japan 

xzsV cSfj;j jhQ dgkWa fLFkr gS\    

¼ v ½  fczVsu   ¼ c ½ vkLVªsfy;k ¼ l ½ eMkxkLdj   ¼ n ½   tkiku 

163) According to Darwin which is formed between sea coast and barrier reef? 

(a) Ox-bow lake  (b)  Tank      (c)  Pond   (d)  Lagoon 

MkfoZu ds vuqlkj leqnzh rV ,oa cSfj;j jhQ ds e/; &&&& dk fuekZ.k gksrk gS\    

¼ v ½  NkM+u >hy   ¼ c ½ VSad    ¼ l ½ rkykc ¼ n ½ ySxwu 

164) According to Darwin, continuous shallow lagoon is the proof of ---------------? 

(a) Subsidence  (b)  Stand still      (c)  Glacial control   (d)  Wave cut platform 

MkfoZu ds vuqlkj ySxwu dk fujarj fNNyk gksuk fdldk izek.k gS\    

¼ v ½  voryu   ¼ c ½ fLFkj LFky ¼ l ½ fgekuh fu;a=.k   ¼ n ½ rjax ?kf’kZr pcqrjk 

165) Daly said –“Sea level lowered by -------fathoms during Pleistocene glaciations”? 

(a)         103 - 108        (b)  63 - 68      (c)      33 - 38    (d)  13 - 18 

MSyh us dgk & ÞIyhLVkslhu fge;qx esa lkxj ry esa &&&&&& QSne dh deh gqbZß\    

¼ v ½    103 – 108      ¼ c ½ 63 - 68  ¼ l ½ 33 - 38  ¼ n ½ 13 - 18 

166) Which of the following is not related with coral reef formation theory? 

(a)      Daly   (b)      Penck     (c)        Darwin   (d)      Murray 

fuEu esa ls dkSu izoky fHkfr fuekZ.k fl|kUr ls lEcfU/kr ugha gSa \    

¼ v ½      MSyh     ¼ c ½   isad   ¼ l ½ MkfoZu   ¼ n ½    ejsZ 

167) Series of small atolls having shallow lagoons is known as -------------------------? 

(a) Atolls  (b) small atolls     (c)  Foras    (d)  big atolls 

fNNys ySxwuksa okyh y?kq ,VkWy dh J`Wa[kyk dks &&&&&&&&& dgrs gSa \    

¼ v ½ ,VkWy ¼ c ½ y?kq ,VkWy   ¼ l ½ Qksjl   ¼ n ½ cMh ,VkWy 



168)  Water portion between land and coral reef is called -------------? 

(c) Boat channel   (b)  Forus    (c)   Lagoon    (d)  Polype 

izoky fHkfr;ksa ,ao LFkyh; Hkkx ds chp tyh; Hkkx dks  &&&&&&  dgrs gSa \          

¼ v ½ cksV pSuy     ¼ c ½ Qksjl    ¼ l ½  ySxwu   ¼ n ½ ikWfyi 

UNIT – 3    Chapter-4 : Koppen’s classification of climate  ¼v/;k;&4 % dksisu dk tyok;q 

oxhZdj.k ½ 

169) Koeppen‟s classification (1900) of world climate was based on -------------. 

(a) Thornthwait‟s classification of world climate   (b) Climatic classification by Trewartha     

(c)  World vegetation classification by Candolle   (d) World‟s climatic classifiacation 

dksisu dk fo”o tyok;q oxhZdj.k ¼ 1900½ &&&&&&&&&&& ij vk/kkfjr FkkA 

¼ v ½  FkkWuZFosV dk fo”o tyok;q oxhZdj.k   ¼ c ½ fVªokFkkZ dk fo”o tyok;q oxhZdj.k     

¼ l ½ dsUMksys dk fo”o ouLifr oxhZdj.k   ¼ n ½ fo”o tyok;q oxhZdj.k    

170) Koeppen classified the world‟s climate into --------- major divisions? 

(a)        4  (b)     5      (c)      6   (d)        7 

dksisu  us fo”o ds tyok;q dks &&&&&&& o`gr foHkkxksa esa ckWaVk  \    

¼ v ½    4   ¼ c ½   5  ¼ l ½  6   ¼ n ½     7 

171) B climate of Koeppen indicates ---------- type of climate. 

(a) Polar  (b)  Desert     (c)  Temperate   (d)  Monsoon 

dksisu  dk ch tyok;q &&&&&&&&&& izdkj dh tyok;q gS\    

¼ v ½  /kzqoh;   ¼ c ½ e:LFkyh;  ¼ l ½ le”khrks’.k   ¼ n ½ ekulwu 

172) A climate of Koeppen indicates ---------- type of climate? 

(a) Tropical       (b)  Mountainous    (c)  Polar   (d)  Temperate 

dksisu  dk , tyok;q &&&&&&&&&& izdkj dh tyok;q gS\    

¼ v ½  m’.kdfVcU/kh;   ¼ c ½ ioZrh; ¼ l ½ /kzqoh;   ¼ n ½ le”khrks’.k 

173) C climate of Koeppen indicates ---------- type of climate? 

(a) Tropical     (b)  Mountainous        (c)    Polar  (d)    Temperate 

dksisu  dk lh tyok;q &&&&&&&&&& izdkj dh tyok;q gSA    

¼ v ½  m’.kdfVcU/kh;   ¼ c ½ ioZrh; ¼ l ½ /kzqoh;   ¼ n ½ le”khrks’.k 

174) Which division of Koppen‟s climate is cold temperate climate? 

(a)        A - climate     (b)   B - climate    (c) C - climate     (d)   D - climate     

dksisu ds tyok;q oxhZdj.k dk dkSu lk foHkkx “khr “khrks’.k tyok;q gS\    



¼ v ½   , &tyok;q   ¼ c ½ ch&tyok;q ¼ l ½ lh&tyok;q  ¼ n ½ Mh&tyok;q    

175) Which climatic division of Koppen has 180C as its average annual temperature? 

(a)  A - climate    (b)     B - climate     (c)   C - climate   (d)   E - climate 

dksisu ds fdl tyok;q foHkkx esa vkSlr okf’kZd rkieku 18
0
 ls0 gksrk gS\    

¼ v ½  ,&tyok;q   ¼ c ½ ch&tyok;q  ¼ l ½  lh &tyok;q   ¼ n ½ b&tyok;q    

176) Small alphabet „f‟  in Koppen‟s classification of climate indicates ---------. 

(a) No rainfall  (b)  Rainfall all the year round  (c)  Rainfall in summer (d) Rainfall in winter 

dksisu ds tyok;q oxhZdj.k esa NksVk Þ,Qß &&&&&& ladsr djrk gSA    

¼ v ½  o’kkZ ugha   ¼ c ½ lkyksHkj o’kkZ   ¼ l ½ xzh’edky esa o’kkZ   ¼ n ½ tkM+s esa o’kkZ 

177) Which climatic division of Koppen has no summer season? 

(a) A - climate  (b)  B - climate      (c)  E - climate  (d)  C - climate 

dksisu ds fdl tyok;q foHkkx esa xzh’e _rq ugha gksrh gS \    

¼ v ½  ,&tyok;q   ¼ c ½ ch&tyok;q ¼ l ½ b&tyok;q ¼ n ½ lh&tyok;q 

178) Which of the climatic division of Koppen is warm temperate rainy climate? 

(a) A - climate  (b)  B - climate   (c)  C - climate   (d)  D - climate 

dksisu dk dkSu tyok;q foHkkx m’.k “khrk’.k ue tyok;q gS\    

¼ v ½  ,&tyok;q   ¼ c ½ ch&tyok;q    ¼ l ½ lh&tyok;q    ¼ n ½ Mh&tyok;q    

179) Which of the following is not the sub-division of Koppen‟s C-climate? 

(a) Cm - climate  (b)  Cf - climate      (c)  Cs - climate  (d)  Cw - climate 

fuEu esa ls dkSu dksisu ds lh&tyok;q dk mifoHkkx ugha gS \    

¼ v ½  lh ,e&tyok;q   ¼ c ½ lh ,Q&tyok;q ¼ l ½lh ,l&tyok;q ¼ n ½ lh MCY;q&tyok;q    

180) Which sub-division of Koppen‟s classification of world climate is monsoon climate? 

(a)      Af         (b)        Cf       (c)         Am    (d)        Cm 

dksisu ds fo”o tyok;q oxhZdj.k dk dkSu lk mifoHkkx ekSulwu tyok;q gS\    

¼ v ½ , ,Q&tyok;q ¼ c ½ lh ,Q&tyok;q ¼ l ½ , ,e&tyok;q ¼ n ½ lh ,e&tyok;q 

UNIT – 3   Chapter-5 : Evidences of Climatic change  ¼v/;k;&5 % tyok;q ifjorZu ds izek.k½ 

181) Which of the following is not the evidence of climatic change? 

(a) Change in rainfall   (b)  Change in weather pattern 

 (c)  Shifting of plates    (d)  Loss of Arctic sea ice 

fuEu esa ls dkSu tyok;q ifjorZu dk izek.k ugha gS\    

¼ v ½  o’kkZ esa ifjorZu     ¼ c ½ ekSleh ifjorZu     



¼ l ½ IysVksa dk f[klduk    ¼ n ½ vkdZfVd lkxj ds oQZ dk ?kVuk 

182)  Which of the following is not the evidence of climatic change? 

(a) Sea level rise   (b)  Heavy downpour       

(c)  Melting of icesheet  (d) Contraction of glaciers 

fuEu esa ls dkSu tyok;q ifjorZu dk izek.k ugha gS\    

¼ v ½  leqnzh Lrj dk mij mBuk     ¼ c ½ vR;f/kd o’kkZ 

¼ l ½ oQZ dh pknjksa dk fo?kyuk   ¼ n ½ fgekfu;ksa dk fldqM+uk 

183) Which is not a name of glaciations period? 

(a) Labrodar  (b)  Riss     (c)  Gunj   (d)  Worm 

dkSu fgekuhdj.k dk uke ugha fS\    

¼ v ½  ySczksMkj   ¼ c ½ fjl ¼ l ½ xqat   ¼ n ½ oqeZ 

184) Which of the following follows the correct chronological order? 

(a) Riss-Gunj-Mindel- Worm  (b)  Gunj -Worm-Mindel-Riss 

(c)  Gunj –Mindel-Riss-Worm   (d) Worm-Gunj-Mindel-Riss 

fuEu esa ls DkSu lgh dkydze dze dk vuq”kj.k djrk gS \    

¼ v ½  fjl& xqat&fe.Msy&oqeZ  ¼ c ½ xqat&oqeZ& fe.Msy&fjl 

¼ l ½ xqat&fe.Msy &fjl&oqeZ ¼ n ½ oqeZ& xqat&fe.Msy& fjl 

185) Which of the following is the latest glaciations period? 

(a) Pliestocene  (b)  Pliocene          (c)  Cambrian        (d)  Carboniferous 

fuEu esa ls dkSu v|ru fge;qx gS\    

¼ v ½  IyhLVkslhu   ¼ c ½ Iyk;kslhu     ¼ l ½ dSfEcz;u    ¼ n ½ dkcksZfuQsjl 

186) Which of the following is the oldest glaciations period? 

(a) Pre-Cambrian  (b)  Pliestocene  (c)  Ordovician   (d)  Miocene 

fuEu esa ls dkSu lcls iqjkuk fgedky gS\    

¼ v ½  iwoZ&dSfEcz;u    ¼ c ½ IyhLVkslhu ¼ l ½ vkSjMksfofl;u   ¼ n ½ ek;kslhu 

187) Which of the following is not the biological evidence of climatic change? 

(a) Oxygen Isotop  (b)  Geomorphic features    (c)  Fossils  (d)  Tree ring growth 

fuEu esa ls dkSu tyok;q ifjorZu dk tSfod izek.k ugha gS\    

¼ v ½  vkWDlhtu vkblksVkWi ¼ c ½ Hkwvkd`fr;kWa ¼ l ½ thok”e vo”ks’k  ¼ n ½ o`{k oy; o`f) 

188) Which of the following is not the tectonic evidence of climatic change? 

(a) Palaeomagnetism (b)  Sea floor spreading (c)  Wandering of poles  (d)  Flood record 



fuEu esa ls dkSu tyok;q ifjorZu dk foorZfud izek.k ugha gS\   

¼ v ½  iqjkpqEcdRo ¼ c ½ leqnzh fury izlkj ¼ l ½ /kzqoksa dk Hkze.k  ¼ n ½ ck<+ vfHkys[k 

189) Which of the following is not the crygenic evidence of climatic change? 

(a) Glaciation period (b)  Plate tectonics     (c)  Ice sheet   (d)  Periglacial evidence 

fuEu esa ls dkSu tyok;q ifjorZu dk fgeh; izek.k ugha gS\    

¼ v ½  fge dky   ¼ c ½ IysV foorZfudh ¼ l ½ fge pknj  ¼ n ½ ifjfgekuh lk{; 

190) The warm period between two glacial periods is called ------------? 

(a) Palaeoglacial period   (b)  Interglacial period   

(c)  Post-glacial period    (d)  Pre-glacial period 

nks fge dky ds xeZ e/;kof/k &&&&&&&&&&& dgykrh gS\    

¼ v ½  iqjkfgedky ¼ c ½ vUrZfgedky  ¼ l ½ mrjfgedky ¼ n ½ iqoZfgedky 

191) Which of the following is not the glaciation of North America? 

(a) Nebraskan  (b)  Mindel      (c)  Wisconsin   (d)  Kansasan 

fuEu esa ls dkSu mrj vesfjdk dk fgekuhdj.k ugha gS\    

¼ v ½  usczkLdu   ¼ c ½ fe.Msy  ¼ l ½ foLdkWafUlu   ¼ n ½ dUlklu 

192) How many years ago, Pleistocene glaciation occured? 

(a) 1000 million       (b)  10 million     (c)  01 million        (d)  100 million 

fdrus o’kZ igys IyhLVkslhu fgedky ?kfVr gqvk\    

¼ v ½  1000 fefy;u  ¼ c ½ 10  fefy;u ¼ l ½ 01 fefy;u ¼ n ½ 100  fefy;u      

UNIT –3    Chapter-6 : Classification of Airmass & Fronts  ¼v/;k;&6 % ok;qjkf”k ,oa lhekxz 

  dk oxhZdj.k ½ 

193) Who nomenclature „Airmass‟ for a part having horizontal homozenous temperature and 

humidity? 

(a) Strahler      (b)  Chorley      (c)  Berknese    (d)  Trewartha 

leku {kSfrt rkieku ,oa vknzZrk okys ok;qeaMyh; Hkkx ds fy, Þok;qjkf”kß dk ukedj.k fdlus 

fd;k\    

¼ v ½  LVªkyj   ¼ c ½ pksysZ  ¼ l ½ odZuht   ¼ n ½ fVªokFkkZ 

194) Which of the following is not an ideal source region of airmass? 

(a) Equatorial region  (b)  Monsoon region  (c)  Temperate region  (d)  Polar region 

fuEu esa ls dkSu ok;qjkf”k dk vkn”kZ mRifr LFky ugha gS\    

¼ v ½  Hkwe/;js[kh; {ks=    ¼ c ½ ekSulwu {ks= ¼ l ½le”khrk’.k {ks=   ¼ n ½ /kzzqoh; {ks= 



195) Which of the following is not used in the classification of airmass? 

(a)   T (b)   P    (c)   m   (d)        Z 

fuEu esa ls dkSu ok;qjkf”k ds oxhZdj.k esa iz;qDr ugha gksrk gS\    

¼ v ½  T ¼ c ½ P ¼ l ½ m ¼ n ½  Z 

196) cT stands for ---------------------? 

(a) Cold tropical    (b)  Cold Temperate 

(c)    Continental temperate   (d) Continental Tropical 

cT dk vFkZ gksrk gS &&&&&&&&&&&&&\    

¼ v ½  Ba<h m’.kdfVcU/kh;     ¼ c ½ Ba<h le”khrks’.k 

¼ l ½ egk}hih; le”khrks’.k   ¼ n ½ egk}hih; m’.kdfVcU/kh; 

197) mT stands for ---------------------? 

(a) Meritime tropical   (b)  Monsoon tropical      

(c)     Meritime temperate    (d)  Mountain temperate 

mT dk vFkZ gksrk gS &&&&&&&&&&&&&\    

¼ v ½  egklkxjh; m’.kdfVcU/kh;    ¼ c ½ ekWulwu m’.kdfVcU/kh;     

¼ l ½ egklkxjh; le”khrks’.k    ¼ n ½ ikdZj le”khrks’.k   

198)  cP stands for ---------------------? 

(a) Central Plateau     (b)  Central Polar       

(c)      Continental Polar    (d)   Continental plateau 

     cP dk vFkZ gksrk gS &&&&&&&&&&&&&\       

¼ v ½  e/;orhZ iBkj    ¼ c ½ e/;orhZ /kzqoh; 

¼ l ½ egk}hih; /kqzoh;   ¼ n ½ egk}hih; iBkj 

199)  mP stands for -------------------------------? 

(a) Meritime Polar  (b)  Middle Polar   (c)  Mountain Polar   (d)  Mainland Polar 

 cP dk vFkZ gksrk gS &&&&&&&&&&&&&&&&&&&\    

¼ v ½  egklkxjh; /kqzoh; ¼ c ½ e/;orhZ /kqzoh; ¼ l ½ ioZrh; /kzqoh;   ¼ n ½ eq[; Hkwfe /kzqoh; 

200) Continental Polar airmass is found in ---------? 

(a) India  (b)  Arab      (c)  Alaska   (d)  Brazil 

egk}hih; /kzqoh; ok;qjkf”k dgkWa ik;h tkrh gS\    

¼ v ½  Hkkjr   ¼ c ½ vjc  ¼ l ½ vykLdk   ¼ n ½ czkthy 

201) Continental tropical airmass is found in ---------. 

(a) Mexico  (b)  Gobi      (c)  Norway   (d)  Japan 



egk}hih; m’.kdfVcU/kh; ok;qjkf”k dgkWa ik;h tkrh gS\ 

¼ v ½  esfDldks   ¼ c ½ xksch  ¼ l ½ ukosZ   ¼ n ½ tkiku 

202) Which of the following airmass takes its origin at Siberia? 

(a) cT  (b)  mT      (c)  cP    (d)  mP 

fuEu esa ls dkSu lh ok;qjkf”k dh mRifr lkbcsfj;k esa gksrh gS\    

¼ v ½  cT  ¼ c ½ mT  ¼ l ½ cP ¼ n ½ mP 

203) Atmospheric pressure becomes ------- in the centre of a cyclone. 

(a) Low          (b)  High  (c)  Zero   (d)  Medium 

,d pdzokr ds dsUnz esa ok;qeaMyh; ncko &&&&&& jgrk gSA    

¼ v ½  fuEu       ¼ c ½ mPp  ¼ l ½ “kwU;   ¼ n ½ e/;e 

204) Hurricane is a ------------------ cyclone. 

(a) Temperate  (b)  Polar    (c)  Tropical    (d)  Arctic 

gfjdsu ,d &&&&&&&&&&&& pdzokr gSA     

¼ v ½  le”khrks’.k    ¼ c ½ /kzqoh; ¼ l ½ m’.k dfVcU/kh;  ¼ n ½ vkdZfVd 

UNIT – 4    Chapter-1 : Subsistence Agriculture  ¼v/;k;&1 % thou fuokZgd d`f’k ½ 

205)  Which of the following is a wrong pair S & 

(a)  Ladang --    Indonesia          (b)  Chena     -- Sri Lanka  

(c)  Milpa    --     Mexico          (d)  Ray     -- India  

fuEu esa dkSu lk tksM+k xyr gS & 

¼d½ ynkax  &  bUMksusf”k;k   ¼[k½ psuk&Jhyadk  

 ¼x½  feYik &  esfDldks   ¼?k½ js & Hkkjr   

206)  Which of the following dominates in subsistence agriculture & 

(a)  Rice (b)   Jowar     (c)  Bajra  (d)   Maize  

 xgu fuokZgu d`f"k esa fdl [kk|kUu dh lcls vf/kd iz/kkurk jgrh gS & 

 ¼d½ pkoy ¼[k½ Tokj   ¼x½  cktjk   ¼?k½ edbZ  

       207) The crop sown in winter and harvested in early summer is-----------  .   

(a)  Rabi (b)  Kharif  (c)   Garma  (d)   Jayad 



 oSlh Qly tks 'kjn _rq esa cksbZ tkrh gS rFkk xzh"e _rq ds vkjaHk esa dkV yh tkrh gS  

 mUgsa D;k dgrs gS& 

 ¼d½ jch ¼[k½ [kjhQ ¼x½  xjek  ¼?k½ tk;n  

    208) What is Sawah agriculture? 

(a)  Rice dominated agriculture (b)   Weat dominated agriculture  

(c)  Maize dominated agriculture (d)   Bajra dominated agriculture  

 lkok d`f"k ¼Sawah Agriculture½ fdls dgk tkrk gS & 

 ¼d½ pkoy iz/kku d`f"k ls   ¼[k½ xsgw¡ iz/kku d`f"k dks   

 ¼x½  edbZ iz/kku d̀f"k dks    ¼?k½ cktjk iz/kku d`f"k dks 

   209)  Which of the following agriculture is grown in south-east Asia? 

(a)  Mixed agriculture (b)   Dry agriculture  

(c)  Dairy agriculture (d)   Intensive subsistence agriculture  

fuEufyf[kr d`f"k izk:iksa esa ls dkSu&lh nf{k.kh iwohZ ,f'k;k esa feyrh gS & 

 ¼d½ fefJr d`f"k    ¼[k½ 'kq"d d`f"k  

 ¼x½   Ms;jh d`f"k   ¼?k½  l?ku thou&fuokZg d`f"k 

    210) Which of the following is not a export -commodity of Sri Lanka? 

(a)  Rice (b)   Coconut (c) Rubber  (d)   Tea 

 fuEufyf[kr esa ls dkSu Jhyadk ds fu;kZr dh eq[; oLrq ugha gS& 

 ¼d½ pkoy ¼[k½ ukfj;ky ¼x½  jcj  ¼?k½ pk; 

211)  Following geographical conditions are essential for which crop?   

(i) Temp. – 15 – 200c   (ii) Rainfall. – 50– 800 cm 

(iii) 100 frost free days  (iv) Sun rays at the time of ripening 

(a)  Cotton (b)   Coco   (c)  Coffee (d)   Wheat  

 fuEufyf[kr HkkSxksfyd ifjfLFkfr;ka fdl Qly ds mRiknu ds fy, vko';d gS & 

 ¼i½ 150C - 200C rkieku  ¼ii½ 50 -80 ls-eh- o"kkZ   

 ¼ii½  100 iklk jfgr fnu   ¼iv½ idrs le; /kwi 



 ¼d½ dikl    ¼[k½ dksdks  ¼x½  dgok   ¼?k½ xsgw¡ 

212)  Intensive farming is related with ------- 

(a)  Grain farming   (b)   Livelihood farming  

(c)  Dry farming   (d)   Multi-crop farming 

 xgu d`f"k lacaf/kr gS & 

 ¼d½ [kk|kUu d`f"k ls   ¼[k½ thfodksiktZu d`f"k ls  

 ¼x½  'kq"d d̀f"k ls   ¼?k½ cgqy QlyksRiknu ls 

213) Terraced farming is related with -- 

(a)  Intensive subsistence farming (b)   Commercial farming 

(c)  Plantation agriculture   (d)   Dairy farming 

 osfnek d`f"k ¼Terrace Farming½ lacaf/kr gS & 

 ¼d½ xgu fuokZgu d`f"k ls   ¼c½ O;kikfjd d`f"k ls  

 ¼l½  ckxkrh d`f"k ls    ¼n½ nwX/kksRiknu d`f’k 

214) Crop grown in area having below annual 60 cm. rainfall is -------? 

(a)  Rice (b)   Jowar   (c) Sugarcane (d)   Maize 

 oSls {ks= tgk¡ o"kkZ 60 ls-eh- ls de gksrh gS rFkk fdl izdkj dh Qly gksrh gS& 

 ¼d½  pkoy ¼[k½ Tokj  ¼x½  bZ[k  ¼?k½ buesa ls dksbZ ugha 

      215) Two or more rice crops grown in a year from a single field is -------  .  

(a)  Sawa (b)   Plantation (c)  Commercial (d)   Truck farming 

 ,d gh [ksr esa ,d o"kZ esa pkoy dh nks&rhu Qlysa mxk;h tkrh gS mls D;k dgrs gS & 

 ¼d½ lok d`f"k ¼[k½ ckxkrh d`f"k ¼x½  O;kikfjd d`f"k ¼?k½ Vªd QkfeZax 

   216) Important crop in dry farming is ------------ 

 (a)  Potato (b)   Rice  (c)  Sugarcane (d)   Gram  

  “kq’d [ksrh esa izeq[k Qlysa &&&&&&&&&&&&&& gSA 

   ¼d½ puk ¼[k½ pkoy  ¼x½  bZ[k  ¼?k½ vkyw 

UNIT – 4    Chapter-2 : Commercial Grain Farming  ¼v/;k;&2 % okf.kfT;d vUuksRiknu d`f’k½ 

217) Commercial grain farming region is found in ----------------------? 

(a) Mid-latitudinal grassland   (b)  North latitudinal grassland 

(c)   South latitudinal grassland   (d) Siberian grassland 



  O;kikfjd vUu mRiknd d̀f"k izns'k ik, tkrs gS & 

  ¼d½  e/; v{kka'kh; /kkjk dss eSnku esa    ¼[k½ mÙkjh v{kka'kh; /kkjk ds eSnku esa  

  ¼x½  nf{k.k v{kka'kh; /kkjk ds eSnku esa     ¼?k½ lkbcsfj;u ?kkl ds eSnku esa 

 

218) Marray – Darling basin is located at ----------------------. 

 (a)  South America  (b) Austrelia       (c)   Eurasia        (d) South Africa 

  ejsZ Mkfy±x csflu dgk¡ vofLFkr gS \ 

  ¼d½  nf{k.kh vesfjdk ¼[k½  vkLVsªfy;k    ¼x½  ;qjsf”k;k     ¼?k½nf{k.kh vfQzdk 

219) Prairies are located at ---------------------? 

(a) Europe   (b)  Austrelia     (c)  North America   (d)  Asia 

  izs;jh {ks= fdl fn'kk esa gS& 

  ¼d½   ;qjksi  ¼[k½ vkLVªsfy;k  ¼x½ mÙkjh vesfjdk ¼?k½ ,f”k;k 

220) Which of the following is not often used in commercial agricultural regions? 

(a) Tractors      (b)  Harvesters  

(c)   Moderns agro-implements  (d)  Plough -oxen 

  O;kikfjd d`f"k izns'kksa eas fuEu esa ls dkSu izk;% iz;ksx ugha fd;k tkrk gS & 

  ¼d½ VªSDVj    ¼[k½ dVkbZ e”khu  

  ¼x½  vk/kqfud d`f’k la;a=   ¼?k½ gy&cSy 

221) Which of the following is commercial plantation agriculture? 

(a) Tea   (b)  Paddy       (c)   Maize   (d)  Gram 

  buesa ls dkSu O;kikfjd ckxkuh d`f"k gS \ 

  ¼d½ pk; ¼[k½ /kku    ¼x½  edbZ    ¼?k½ puk 

222) The biggest customer of Indian tea is -----------------------? 

(a) Britain  (b)  Pakistan    (c)   Austrelia   (d)  Egypt 

-  Hkkjr dh pk; dk lcls cM+k xzkgd dkSu gS\ 

  ¼d½ fczVsu ¼[k½ ikfdLrku ¼x½  vkLVsªfy;k ¼?k½ feJ 



223) Which type of agricultural system is more popular in the world? 

(a) Plantation farming    (b)  Extensive  farming   

 (c)   Sedentary farming   (d)  Intensive farming 

  fo'o esa fdl izdkj dh d`f"k dk lokZf/kd izpyu gS & 

  ¼d½ ckxkuh d`f"k ¼[k½ foLr`r d`f"k ¼x½ LFkkuc) d`f"k     ¼?k½ xgu d`f"k 

224) Which of the following in not included under grain farming? 

(a) Rice cultivation     (b) Wheat  cultivation   

 (c)   Sugarcane cultivation   (d)  Maize  cultivation 

-  fuEu esa ls dkSu [kk|kUu d`f"k ds vUrxZr ugha vkrk gS & 

  ¼d½ pkoy dh d`f"k   ¼[k½ xsgw¡ dh d`f"k  

  ¼x½  xUuk dh d`f"k    ¼?k½ eDdk dh d̀f"k 

225) Which of the following is the famous commercial crop of Japan? 

(a) Tea & Cotton    (b)  Tea & Sugarcane  

 (c)    Silk & Tea     (d)  Silk & Sugarcane 

  fuEufyf[kr esa ls dkSu tkiku dh izeq[k O;kikfjd Qly gS & 

  ¼d½ pk; ,oa dikl   ¼[k½ pk; ,oa xUuk  

  ¼x½  js'ke ,oa pk;    ¼?k½ js'ke ,oa xUuk 

226) Truck farming means -------? 

(a) Silk worm raring    (b)  Grape cultivation   

(c)   Acqua-culture    (d) Gardening cultivation 

-  Vªd Qkfe±x dk vfHkizk; gS & 

  ¼d½ js'ke dhV dk ikyu  ¼[k½ vaxwj dh [ksrh  

  ¼x½  tyt d`f"k    ¼?k½ ckxokuh d`f"k 

227) The famous oolang tea producer of the world is ---------------? 

(a) Vietnam    (b)  Japan        (c)   Taiwan  (d)  Kenya 

-  fo'o esa myax pk; dk egRoiw.kZ mRiknd gS & 

  ¼d½ fo;ruke~  ¼[k½ tkiku    ¼x½  rkbZoku  ¼?k½ dsU;k 



228) Major coffee plantation in Brazil is called as ------------- what ?  

(a) Estate    (b)  Farm     (c)   Fezenda   (d)  Colkhoj 

-  czkthy esa o`gr~ dkQh jksi.k D;k dgykrk gS \ 

  ¼d½ lEink ¼,LVsV½ ¼[k½ QkeZ ¼x½  Qsts.Mk        ¼?k½ dkWy[kkst 

UNIT – 4    Chapter-3 : Dairy Agriculture ¼v/;k;&3 % nwX/kksRiknu d`f’k ½ 

229) Which is the most important milk producing animal among the following? 

(a) Cow   (b)  Buffalo   (c)   Goat     (d)  Camel 

  fuEu esa ls dkSu lokZf/kd izeq[k nqX/k mRiknd i'kq gS\ 

  ¼d½ xk;  ¼[k½ HkSal  ¼x½  cdjh   ¼?k½ ÅWaV 

230) Which of the following is the biggest milk producing country? 

(a) India   (b)  France   (c)   Austrelia    (d)  Argentina 

 fuEu esa ls dkSu lcls cM+k nwX/k mRiknd ns”k gS & 

 ¼d½ Hkkjr  ¼[k½ QzkWal ¼x½  vkLVªsfy;k ¼?k½ vktsZuVk;uk 

231) Which of the following is not among the ten biggest milk producing country? 

(a) India    (b)  Pakistan   (c)   China    (d)  Argentina 

-  fuEu esa ls lcls cM+k nqX/k mRiknd ns'k dkSu gS\ 

  ¼d½ Hkkjr  ¼[k½ ikfdLrku      ¼x½ phu ¼?k½  vktsZuVhuk 

232) Which country has the largest dairy cows? 

(a) Argentina  (b)  U.S.A.   (c)   India     (d)  Austrelia 

-  fdl ns”k esa lokZf/kd nq/kk: xk,Wa gaS & 

  ¼d½ vktsZuVhuk Z ¼[k½ ;q0 ,l0,0 ¼x½  Hkkjr ¼?k½ vkLVªsfy;k 

233) Which country is the biggest importer of cheese ? 

(a) Britain   (b)  India  (c)   Belgium   (d)  Pakistan 

-  iuhj ds vk;kr esa fdl ns'k dk izFke LFkku gS & 

  ¼d½ fczVsu  ¼[k½ Hkkjr ¼x½  csfYt;e  ¼?k½ ikfdLrku 

234) Which is not the importer country of butter? 

(a) China        (b)  Netherland  (c)   France     (d) Newzealand 



-  eD[ku vk;kr djus esa lcls izeq[k ns'k dkSu gS& 

  ¼d½  phu    ¼[k½ usnjySaM  ¼x½ QzkWal   ¼?k½  U;qthySaM 

235) What is estancia? 

(a) Big animal farm of Arjentina  (b)  Comparatively small wealth of Brazil 

 (c)   Plantation farm of Malayasia    (d)   Commercial garinland of U.S.A. 

  ^,LVkf'kFkk* D;k gS \ 

  ¼d½ vtsZUVkbuk ds cM+s i'kq QkeZ ¼[k½ czkthy dh vis{kkd̀r NksVh laink,¡  

  ¼x½  eysf'k;k ds cxku QkeZ  ¼?k½ ;w-,l-,- ds okf.kT; vukt yS.M 

236) Which is the most milk producing country of Europe? 

(a) Denmark  (b)  Netherland  (c)   Switzerland     (d)  France 

-  ;wjksi ds lokZf)d nqX/k mRiknd ns'k dkSu gS\ 

  ¼d½ MsuekdZ  ¼[k½ uhnjyS.M ¼x½  fLoV~tjyS.M ¼?k½ Ýkal 

237) Which is the most important among the milk providing animals? 

(a) More capital, less labour   (b)  Less capital, more labour  

 (c)   More capital, more labour    (d)  Less capital, less labour 

-  Ms;jh Qkfe±x ds fy, vko';drk gksrh gS & 

¼d½ vf/kd iw¡th] de Je   ¼[k½ de iw¡th] vf/kd Je  

¼x½  vf/kd iw¡th] vf/kd Je    ¼?k½ de iw¡th] de Je 

238) In which of the following natural region, dairy industry is more prevalent? 

(a) Monsoon region    (b)  N.E. Prairy region  

(c)       Mediterranean region     (d) Savana region 

- fuEufyf[kr esa ls fdl izkd`frd izns'k esa nqX/k O;olk; vf/kd izpfyr gS & 

 ¼d½ ekulquh izns'k    ¼[k½ m0iw0 iz;sjh izns'k  

 ¼x½  Hkwe/; lkxjh; izns'k    ¼?k½ lokuk rqY; izns'k 

239) Which of the following two types of vitamins are found more in the milk? 

(a) A & B   (b)  A & D   (c)  C & E  (d)  K &E 



- nw/k esa dkSu lh nks izdkj ds foVkehu lcls T;knk ik;k tkrk gS & 

 ¼d½ ,  vkSj ch   ¼[k½ ,   vkSj  Mh ¼x½ lh vkSj b   ¼?k½ ds  vkSj b 

240) Who is known as the father of white revolution? 

(a)     Verghese Kurian     (b)  Swaminathan  

(c)   Charles Darwin       (d)  Dalaya 

- Hkkjr esa Losr Økafr ds firk ds :i esa fdls tkuk tkrk gS & 

 ¼d½  oxhZt dqfj;u     ¼[k½ Lokeh ukFku  

 ¼x½  pkYlZ MkfoZu     ¼?k½ Myk;k 

UNIT – 4    Chapter-4 : Coal ¼v/;k;&4 % dks;yk ½ 

241) Which type of coal is of best quality? 

(a) Anthracite   (b)  Bituminus   (c)   Lignite      (d)  Peat 

  lcls mÙke izdkj dk dks;yk dkSu gS \ 

  ¼d½ ,UFkzklkUV ¼[k½ fcVqfeujk ¼x½  fyXukbV ¼?k½ ihV  

242) What is the percentage of carbon content in anthracite coal? 

(a) 60%           (b)  75%  (c)   95%      (d)  40% 

   ,UFkzklkbV dks;yk es- dkcZu dh ek=k fdruk izfr'kr jgrk gS & 

   ¼d½ 60 izfr'kr   ¼[k½ 75 izfr'kr    ¼x½ 95 izfr'kr      ¼?k½  40 izfr'kr 

243) The biggest coal producer of the world is ----------? 

(a) China   (b)     U.S.A.   (c)   Russia    (d)  Germany 

 fo'o esa dks;yk dk lcls cM+k mRiknd ns'k gS & 

 ¼d½ phu ¼[k½ la;qDr jkT; vesfjdk ¼x½  :l  ¼?k½ teZuh 

244) Albama coalfield is situated in -----------------? 

(a) U.S.A.    (b)  China  (c)   India     (d)  Pakistan 

 vykckek dks;yk {ks= vofLFkr gS & 

 ¼d½ la;qDr jkT; vesfjdk ¼[k½ phu ¼x½  Hkkjr  ¼?k½ ikfdLrku 

245) Jharia and Raniganj coalfields are located in --------------------? 

(a) Russia   (b)  Pakistan   (c)  China  (d)  India  



 >fj;k vkSj jkuhxat dks;yk mRiknd {ks= vofLFkr gS & 

 ¼d½ :l  ¼[k½ ikfdLrku ¼x½  phu  ¼?k½ Hkkjr 

246) The most important anthracite coal producing region of U.S.A is -------. 

(a) Gulf coast region   (b)  Rocky mountain region  

(c)   Pacific coastal region   (d)  Pensylvania region 

 la;qDr jkT; vesfjdk dk lcls egRoiw.kZ ,UFkzklkbV dks;yk dk mRiknd izns'k gS & 

 ¼d½ [kkM+h rêh; izns”k   ¼[k½ jkWadh ioZrh; izns”k 

 ¼x½  iz'kkar egklxjh;  rêh; izns”k  ¼?k½ isfUlyoksfu;k izns”k 

247) Which is the best quality coal producing region of Great Britain? 

(a) Lancashire region      (b)  Scotland region  

(c)       Northumberland region   (d)  North Wales region 

 xzsV fczVsu dk loks±Ùke dks;yk {ks= fuEufyf[kr esa ls dkSu gS\ 

 ¼d½ yadk'kk;j {ks=    ¼[k½ LdkWVyS.M {ks=  

 ¼x½  ukFkZEcjyS.M izns”k     ¼?k½ mÙkjh osYl {ks=  

248) Which is the most important coal region of Germany ? 

(a) Westphalia region    (b)  Saar region  

 (c)       Achen region     (d) Sacsoni region 

 teZuh dk lcls egRoiw.kZ dks;yk {ks= dkSu gS \ 

  ¼d½ osLVQkfy;k {ks=  ¼[k½ lkj {ks= 

  ¼x½  vkpsu {ks=  ¼?k½ lSDlksuh {ks= 

249) Where is Donbas coal basin region situated? 

(a) North of Black sea   (b)  North of Caspian sea 

(c)     East  of Finland gulf   (d)  North of Azove sea 

 Mksuckl uked dks;yk osflu {ks= dgk¡ vofLFkr gS \ 

 ¼d½ dkyk lkxj ds mÙkj esa  ¼[k½ dSfLi;u lkxj ds mÙkj esa  

 ¼x½  fQuyS.M dh [kkM+h ds iwoZ esa  ¼?k½ ,tkso lkxj ds mÙkj esa 

250) Which is known as white coal? 

(a) Petroleum  (b)  Hydal power   (c)   Lignite     (d)  Uranium 



“ossr dks;yk  fdls dgk tkrk gS\ 

  ¼d½ isVªksfy;e ¼[k½ ty fo|qr ¼x½  fyXukbV   ¼?k½ ;qjsfu;e 

251) Which of the following pair is not correct? 

(a) Petroleum - Kirkuk   (b)  Coal– Ruhr valley  

(c)   Natural gas – Paraguay   (d)  Uranium -- Russia 

 fuEu esa ls dkSu tksM+k lgh ugha gS & 

 ¼d½ isVªksfy;e &fdjdqd    ¼[k½ dks;yk & :j ?kkVh  

 ¼x½  izkd`frd xSl & ijkXos    ¼?k½ ;qjsfu;e  & :l 

252) The biggest coal producing country of the world is --------------. 

(a) U.S.A.  (b)  France   (c)  China (d)  Austrelia 

 fo'o esa lcls cM+k dks;yk mRiknd &&&&&&&&&&gSA  

 ¼d½ la;qDr jkT; vesfjdk ¼[k½  QzkWal  ¼x½  phu ¼?k½ vkLVsªfy;k   

UNIT – 4    Chapter-5 : Petroleum ¼v/;k;&5 % isVªksfy;e ½ 

253) The biggest petroleum producing country of the world is ---------------. 

(a) Russia      (b) Saudi Arab  (c)   U.S.A.     (d) China 

 lcls cM+k isVªksfy;e mRiknd ns'k gS & 

 ¼d½ :l   ¼[k½ lkmnh vjc  ¼x½  ;w-,l-,   ¼?k½ phu 

254) Applachian long belt of oil (petroleum) production is found in ----------. 

(a) U.S.A.   (b)  China   (c)   India     (d)  Turkey 

 viysf'k;e rsy ¼isVªksfy;e½ mRiknd yEch iêh &&&&& esa ik;k tkrk gS A 

 ¼d½ la;qDr jkT; vesfjdk ¼[k½ phu  ¼x½  Hkkjr ¼?k½ VdhZ 

255) Where is located World famous Abadan oil refinery? 

(a) Iran   (b)  Iraq   (c)   Venezuela     (d)  Indonesia 

 fo'o izfl) vcknku rsy 'kks/k'kkyk dgk¡ fLFkr gS & 

 ¼d½ bjku ¼[k½ bjkd  ¼x½  osustq,yk   ¼?k½ bMksusf'k;k 

256) In which of the following country, Sharjah oil producing region is located? 

(a) U.A.E.     (b)  Pakistan   (c)   India     (d)  Lybia 

 'kkjtkg rsy mRiknd {ks= fdl ns'k esa fLFkr gS & 

 ¼d½ la;qDr vjc vehjkr ¼[k½ ikfdLrku ¼x½  Hkkjr    ¼?k½ yhfc;k 



257) Where is the biggest oil refinery of Iran situated? 

(a) Tehran   (b)  Bandar Abbas   (c)   Tabriz     (d)  Abadan 

 bZjku dk lcls cM+k rsy 'kks/ku l;a= dgk¡ fLFkr gS & 

 ¼d½ rsgjku  ¼[k½ canj vCckl ¼x½  rfczt   ¼?k½ vcknku 

258) Which of the following is the famous oil exporting port of Iran? 

(a) Bandar Abbas   (b)  Bandar-a-Shah   (c)   Abadan      (d)  Bushahar 

 fuEufyf[kr esa ls dkSu bZjku dk izfl) rsy fu;kZrd canjxkg gS & 

 ¼d½ canj&vCckl ¼[k½ canj&,&'kkg ¼x½  vcknku  ¼?k½  cq'kgj 

259) Mina-el-Ahmadi, the famous oil exporting port belongs to which country? 

(a) Kuwait   (b)  Saudi Arab  (c)   Iraq   (d)  Iran 

 izfl) [kfut rsy fu;kZrd canjxkg& ehuk&vy&vgenh fdl ns'k esa gS & 

 ¼d½ dqoSr  ¼[k½ lmnh vjc ¼x½  bjkd  ¼?k½ bjku 

260) Which of the following is not the member of OPEC organization? 

(a) U.S.A.   (b)  Iran   (c)   Iraq     (d)  Venezuela 

fuEu esa ls dkSu vksisd laxBu dk lnL; ugha gS\ 

 ¼d½ la;qDr jkT; vesfjdk ¼[k½ bjku ¼x½  bjkd   ¼?k½ osusTosyk 

261) The country in spite of having a lot of petroleum reserve imports it is ----------- ? 

(a) India    (b)  U.K.   (c)   U.S.A.      (d)  Indonesia 

 [kfut rsy dk dkQh lajf{kr HkaMkj gksrs gq, Hkh tks ns'k bldk vk;kr djrk gS og gS & 

 ¼d½ Hkkjr  ¼[k½ ;w-ds- ¼x½  ;w-,l-,-  ¼?k½ bUMksusf'k;k 

262) Greater Burgan and Ratoa oil fields are located in which country? 

(a) Venezuela   (b)  Iraq   (c)   Iran     (d)  Kuwait 

xzsVj cjxu ,oa jrksvk tSls egRoiw.kZ [kfut rsy mRiknd {ks= dgkWa fLFkr gS & 

 ¼d½ osustq,yk ¼[k½ bjkd  ¼x½  bjku   ¼?k½ dqoSr 

263) The country having the largest petroleum reserve is -------------. 

(a) Iran   (b)  Iraq   (c)   Saudi Arab (d)  Russia 

 fo'o esa isVªksfy;e ds lokZf/kd lafpr Hk.Mkj okyk ns'k gS & 

 ¼d½ bZjku  ¼[k½ bjkd  ¼x½  lkmnh vjc  ¼?k½ :l 

 



264) Where is Burgan oil producing region located? 

(a) Saudi Arab   (b)  Kuwait   (c)   Iran     (d) Iraq 

 ^cjxku* rsy mRiknd {ks= dgkWa fLFkr gS & 

 ¼d½ lkmnh vjc    ¼[k½ dqoSr  

 ¼x½  bZjku      ¼?k½ bjkd 

UNIT – 4    Chapter-6 : Iron ore ¼v/;k;&6 % ykSg v;Ld ½ 

265) How many types are of iron ore? 

(a) 4  (b)   5   (c)   6     (d)   3 

  ykSg v;Ld fdrus izdkj dk gksrk gS & 

  ¼d½ pkj ¼[k½ ikap   ¼x½  N%   ¼?k½ rhu 

266) Bababudan hill is fomous for -----------------. 

(a) Iron ore  (b)  Copper ore  (c)  Mica     (d)  Coal 

  ckck ownu dh igkfM+;k¡ &&&&&&&& ds fy, izfl) gS & 

  ¼d½ ykSg v;Ld ¼[k½ rk¡ck      ¼x½  vcj[k   ¼?k½ dks;yk 

267) In which type of iron ore, the magnitude of magnetic property becomes maximum? 

(a) Magnetite   (b)  Haematite  (c)  Limonite     (d)  Siderite 

  fdl ykSg v;Ld ds izdkj esa- pqEcd dh ek=k] lcls vf/kd vf/kd gksrh gS& 

  ¼d½ eSXusVkbZV ¼[k½ gsesVkbZV ¼x½ fyeksukbV    ¼?k½ flMsjkbV 

268) Which of the following the biggest iron ore producing country? 

(a) China    (b)  India  (c)   Russia     (d)  France 

fuEu esa ls dkSu lcls cM+k ykSg mRiknd ns”k gS & 

  ¼d½ phu  ¼[k½ Hkkjr  ¼x½  :l   ¼?k½ QzkWal 

269) Importer country of iron ore is -----------------? 

(a) Japan   (b)  India  (c)   China     (d)  Russia 

  ykSg v;Ld dk vk;krd ns'k &&&&&&&&&&&& gSA 

  ¼d½ tkiku  ¼[k½ Hkkjr  ¼x½  phu   ¼?k½ :l 

270) Main iron ore exporting country is   ---------------------------- ? 

(a) Brazil   (b)  U.S.A.   (c)   Iraq     (d)  Spain 

  ykSg vk;Ld ds eq[; fu;kZrd ns'k gS &&&&&&&&&&&&&&A 



  ¼d½ czkthy  ¼[k½ ;w-,l-,-  ¼x½ bjkd ¼?k½  Lisu  

271) Pretoria iron ore region belong to which of the following continent? 

(a) Africa    (b)  Asia   (c)  Europe     (d)  Austrelia 

  fizVksfj;k ykSg v;Ld {ks= fdl egk}hi esa gS & 

  ¼d½  vÝhdk ¼[k½ ,f'k;k   ¼x½  ;wjksi   ¼?k½ vkLVªsfy;k 

272) There becomes a dominance of Which crop in subsistence agriculture? 

(a) India   (b)  France   (c)   Germany     (d)  Britain 

  :j ykSg v;Ld {ks= fuEu esa ls dgkWa vofLFkr gS & 

  ¼d½ Hkkjr  ¼[k½ Ýkal   ¼x½  teZuh ¼?k½ fczVsu 

273) Where is the Kursk iron ore producing region located? 

(a) Canada  (b)  Russia   (c)   India     (d)  Sri Lanka 

  dqLdZ ykSg v;Ld mRiknd {ks= dgk¡ gS\ 

  ¼d½ :l  ¼[k½ :l  ¼x½  Hkkjr   ¼?k½ Jh yadk 

274) Which is the largest iron ore mines in India? 

(a) Cuttuck  (b)  Bailadila   (c)   Kyonjhar     (d)  Dali-Rajhara 

Hkkjr esa lcls cM+k ykSg v;Ld [kknku dkSu gS 

  ¼d½ dVd        ¼[k½ cSykfMyk      ¼x½  D;ksa>kj   ¼?k½ Mkyh&j>kjk 

275) Which is not related with iron ore mining in U.S.A.? 

(a) Vermillian   (b)  Gogebic    (c)   Montana  (d)  Mesabi 

  fØok; jkax dk izfl) ykSg v;Ld {ks= fLFkr gS & 

  ¼d½ ojfefy;u ¼[k½ xksxsfcd  ¼x½  eksUVkuk  ¼?k½ eslkch 

276) Great Lake region of U.S.A. is famous for which of the following mining? 

(a) Coal   (b)  Kuwait  (c)  Iron ore      (d)  Bauxite 

  mÙkjh vesfjdk dk ògn~ >hy izns'k fdlds [kuu ds fy, izfl) gS& 

  ¼d½ dks;yk  ¼[k½ dqoSr ¼x½  ykSg v;Ld ¼?k½ ckWDlkbV 

UNIT – 5   Chapter-1 : Iron and Steel Industry  ¼v/;k;&1 % ykSg &bLikr m|ksx ½ 

277) Pittsburg iron steel industrial region is located in -----------------.? 

(a) France   (b) India  (c)   China     (d)   U.S.A. 

  ihV~lcxZ yksgk&bLikr {ks= vofLFkr gS & 



  ¼d½ QzkWal  ¼[k½ Hkkjr  ¼x½  phu   ¼?k½ la;qdr jkT; vesfjdk 

278) Where is the Ruhr iron steel industrial region located at? 

(a) Germany  (b)  Japan  (c)   France     (d)  India. 

  :j ykSg bLikr vkS|ksfxd izns'k dgkWa vofLFkr gS & 

  ¼d½ teZuh  ¼[k½ tkiku  ¼x½  QzkWal ¼?k½ Hkkjr 

279) Which of the following pair is not correct? 

(a) Kulti – W. Bengal   (b) Jamshedpur – Jharkhand 

 (c)   Bhadravati -- Karnatka    (d) Durgapur  -- Bihar 

  fuEu esa ls dkSu tksM+s lgh ugha gS\ 

  ¼d½ dqYVh&ia- caxky   ¼[k½ te'ksniqj ¼>kj[kaM½    

  ¼x½  Hknzkorh&dukZVd  ¼?k½ nqxkZiqj&fcgkj 

280) When was the SAIL established in India? 

(a) 1953  (b)  1973  (c)  1983     (d)  1993 

Hkkjr esa lsy dh LFkkiuk dc dh xbZ Fkh & 

  ¼d½ 1953 ¼[k½ 1973  ¼x½  1983   ¼?k½ 1993 

281) Gary  iron steel industrial centre is situated at --------------? 

(a) Britain  (b)  India  (c)   U.S.A.       (d)  China 

  xSjh yksgk bLekr dsUnz dgkWa fLFkr gS \ 

  ¼d½ fczVsu ¼[k½  Hkkjr  ¼x½ la;qDr jkT; vesfjdk  ¼?k½ phu 

282) Chicago is located at which of the following lake? 

(a) Antorio   (b)  Huron  (c)   Michigan     (d)  Superior 

f”kdkxks yksgk bLikr dsUnz fdl >hy ij fLFkr gS 

  ¼d½ vUVksfj;ks  ¼[k½ áqju   ¼x½  fe”khxu  ¼?k½ lqihfj;j 

283) Sparrow Point is known for ------------------- industry? 

(a) Cotton textile   (b) Paper  (c)   Motor car     (d)  Steel  



 Lisjkst IokbUV tkuk tkrk gS & 

 ¼d½ oL= m|ksx ds fy,    ¼[k½ dkxt m|ksx ds fy,  

 ¼x½  eksVjdkj m|ksx ds fy,    ¼?k½ bLikr m|ksx ds fy, 

284) Which is the biggest steel producer of the world? 

(a) Brazil  (b) India  (c)   China     (d)  U.S.A. 

fo”o dk lcls cM+k ykSg&bLikr mRiknd ns'k dkSu gS\ 

  ¼d½ czzkthy ¼[k½ fczVsu  ¼x½  phu   ¼?k½  la;qDr jkT; vesfjdk 

285) There becomes a dominance of which crop in subsistence agriculture? 

(a) Kobe  (b)  Osaka  (c)   Penki     (d)  Bermingham 

  nf{k.k dk fiV~l oxZ dgk tkrk gS & 

  ¼d½ dkscs ¼[k½ vkslkdk  ¼x½  isUdh   ¼?k½ cfeZ?ke  

286) Magnitogorsk steel plant is situated in which country? 

(a) Brazil   (b)  India  (c)   Russia     (d)  U.S.A. 

eSxfuVksxksLdZ LVhy IykUV fdl ns”k esa fLFkr gS\ 

  ¼d½ czkthy  ¼[k½ Hkkjr  ¼x½ :l   ¼?k½  Lak;qDr jkT; vesfjdk 

287) Which of the following is not a steel plant of India? 

(a) Durgapur  (b)  Sholapur  (c)   Bokaro     (d)  Bhilai 

fuEu esa ls dkSu Hkkjr dk LVhy IykUV ugha gS 

  ¼d½ nqxkZiqj    ¼[k½ “kksykiqj   ¼x½  cksdkjks   ¼?k½ fHkykbZ 

288) Sheffield steel industry is located  in ------------------- ? 

(a) Ireland   (b)  Scotland  (c)   Yorkshire     (d)  Wales region 

  'kSQhYM bLikr m|ksx dsUnz &&&&& esa vofLFkr gS 

  ¼d½ vk;jyS.M ¼[k½ LdkWVySaM ¼x½  ;kdZ'kk;j  ¼?k½  osYl izns'k 

 

 



UNIT – 5   Chapter-2 : Cotton textile Industry  ¼v/;k;&2 % lwrh oL= m|ksx ½ 

289) Manchester,  a famous cotton textile industrial centre belongs to which country ? 

(a) Britain   (b)  Germany   (c)   India     (d)  Austrelia 

lwrh oL= m|ksx dk  ,d izfl) dsUnz ekupsLVj fdl fdl ns”k esa gS\ 

  ¼d½ fczVsu ¼[k½ teZuh ¼x½  Hkkjr ¼?k½ vkLVªsfy;k 

290) Which pair of cotton textile producing centre and related country is not correct? 

(a) Osaka - Japan    (b)  Ahmedabad - India   

(c)   Manchester – Great Britain     (d)  Bedford - Germany 

  oL= m|ksx mRiknu dsUnz rFkk ns'k ds dkSu tksM+k lgh ugha gS \ 

  ¼d½ vkslkdk&tkiku    ¼[k½ vgenkckn&Hkkjr    

  ¼x½  ekupsLVj&xzsV fczVsu   ¼?k½ osMQksMZ&teZuh 

291) Which is called the Mancester and Liverpool of India? 

(a) Ahmedabad    (b)  Pune   (c)   Mumbay     (d)  Surat 

  Hkkjr dk ekupsLVj ,oa fyojiqy fdls dgk tkrk gS & 

  ¼d½ vgenkckn ¼[k½ iq.ks  ¼x½  eqEcbZ ¼?k½ lwjr 

292) Which pair is not correct? 

(a) Kolhapur - Maharastra   (b)  Ujjaian – Madhya Pradesh 

(c)   Madurai – Tamilnadu    (d)  Salem - Rajasthan 

  fuEufyf[kr esa dkSu tksM+s lgh ugha gS & 

  ¼d½ dksYgkiqj&egkjk"Vª   ¼[k½ mTtSu&e/;izns'k    

  ¼x½  enqjbZ&rfeyukMq   ¼?k½ lsye&jktLFkku 

293) Where is Tanjore cotton textile centre located? 

(a) India   (b)  China   (c)   North Korea     (d)  Japan 

  ratkSj lwrh oL= mRiknd {ks= vofLFkr gS & 

  ¼d½ Hkkjr  ¼[k½ phu   ¼x½  mrjh dksfj;k ¼?k½ tkiku 

294) Which is the biggest cotton textile producer of the world? 

(a) India  (b)  China    (c)   Russia     (d)  Austrelia 

fo”o esa lwrh oL= dk lcls cM+k mRiknd dkSu gS\ 

  ¼d½ Hkkjr ¼[k½ phu  ¼x½  :l ¼?k½ vkLVªsfy;k 



295) Which is called the Manchester of Japan? 

(a) Kobe   (b)  Osaka    (c)   Tokyo     (d) Nagasaki 

  tkiku dk eSupsLVj dgykrk gS & 

  ¼d½ dkscs  ¼[k½ vkslkdk   ¼x½  Vksfd;ks   ¼?k½ ukxklkdh 

296) Both Augusta and Atlanta, the foamous cotton textile centres are located in --------. 

(a) South Carolina   (b)  Mesachusets (c)  North Carolina (d)  Georgia 

  vxLVk rFkk vVyk.Vk nks egRoiw.kZ lwrh oL= dsUnz fLFkr gS & 

  ¼d½ lkmFk dSjksyhuk   ¼[k½ eSlk pqlsV~  ¼x½  ukFkZ dSjksyhuk   ¼?k½  tkWftZ;k  

297) Cotton textile industry is generally located at which place? 

(a) Market     (b)  Near power resource   

(c)   Near sea coast       (d)  Near raw material region 

  oL= m|ksx lkekU;r% dgk¡ vofLFkr gksrk gS & 

  ¼d½ cktkj ds fudV   ¼[k½ 'kfDr Jksr ds lehi    

  ¼x½  leqnz rV ds lehi  ¼?k½ dPps eky izns”k ds fudV  

298) The chief exporter of cotton textile? 

(a) Nepal   (b) Sri Lanka   (c)   China     (d)  Britain 

  lwrh oL= dk eq[; fu;kZrd gS& 

  ¼d½ usiky  ¼[k½ Jhyadk   ¼x½  phu   ¼?k½ fczVsu  

299) Where is Bhiwani cotton textile centre located? 

(a) Rajasthan    (b)  Gujrat   (c)   Goa     (d)  Punjab 

  fHkokuh lwrh oL= m|ksx dsUnz dgkWa vofLFkr gS & 

  ¼d½ jktLFkku ¼[k½ xqtjkr  ¼x½  xksvk ¼?k½ iWatkc 

300) Where is Madurai cotton textile centre located? 

(a) Karnatka   (b)  Kerala  (c)  Tamilnadu      (d)  Madhya Pradesh 

  enwjkbZ lwrh oL= mRiknd {ks= dgk¡ gS & 

 ¼d½  dukZVd  ¼[k½ dsjy  ¼x½  rfeyukMq    ¼?k½ e/;izns'k 
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